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Question Id : 4255893826 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the cumulative percentage of the total number of students appearing in
the Hindi and Punjabi examination and the cumulative number of students appearing in the Hindi
examination and scoring marks in five different categories, namely, 80 and above; 70 and above; 60 and
above; 50 and above; and 40 and above. Based on the data in the table, answer the questions that
follow.

Marks-wise distribution of students

Cumulative precentage of :
the total number of students [ s e e
Marks (Out of 100) : g students who appeared

who appeared in Hindi and in Hindi
Punjabi

80 and above 15% 108

70 and above 35% 264

60 and above 65% 424

50 and above 90 % 554

40 and above 100% 624

Note : (1) Total number of students who attended the exam is 1200.

(2) No student failed in the examination.

(3) Each student appeared in only one exam, that is, either in Hindi or in Punjabi exam.

Sub questions

Question Number : 1 Question Id : 4255893827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks :

What is the sum of the number of students who scored 70 or more than 70 but less than B0 marks
in Hindi and the number of students who scored 80 or more than 80 marks in Punjabi ?

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558914856. 1
42558914857.2
42558914858. 3
42558914859. 4

Question Number : 2 Question Id : 4255893828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of students who scored 50 or more than 50 marks but less than 60
marks in Hindi to the number of students who scored 40 or more than 40 marks but less than 50
marks in Punjabi ?

1 12:11
2 8:7
(3) 3:1
(4 13:5
Options :

42558914860. 1
42558914861. 2
42558914862. 3



42558914863. 4

Question Number : 3 Question Id : 4255893829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The number of students who scored 80 and above marks in Hindi is % less than the
number of students who scored 60 or more than 60 marks but less than 70 marks in Punjabi.

(1) 46

(2) 54
(3) 44
(4) 52

Options :

42558914864. 1
42558914865. 2
42558914866. 3
42558914867. 4

Question Number : 4 Question Id : 4255893830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of students who scored 70 or more than 70 marks but
less than 80 marks in Punjabi and the number of students who scored 40 or more than 40 marks
but less than 50 marks in Hindi ?

(1) 20
(2) 16
(3) 14
(4) 30

Options :

42558914868. 1
42558914869. 2
42558914870. 3
42558914871. 4

Question Number : 5 Question Id : 4255893831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the average of the number of students who scored 50 or more than 50 marks but less than
60 marks in Punjabi and the number of students who scored 50 or more than 50 marks but less
than 60 marks in Hindi ?

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558914872. 1
42558914873.2
42558914874. 3
42558914875. 4



Question Id : 4255893826 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
fe enferrt 9 fewt o el wiien /a7 o ot ferenfiEi @6 et dem o diwa wfaera 9 fédt often # s
oF 3T 80 9 31fHer; 70 9 31faes; 60 & 31ftreR; 50 9 3ifms, 3 40 9 21fys =1 = fa=1 3fodl o sfe W @
et farenfeff 1 dfaa dem g ¢ %) afersr ® e SR1 F Sum T T g9 MY 9 & SR Ty ;
fearenfefai =t 3fer-am faavor

foedt = ot ol § wwr o | et after H W o amer

ok (100 % ) |arer feenfofat &Y wor oear & |faenfi= < wfea dear
Hfera gfdwra

80 7 afers 15% 108

70 7 3fem 35% 264

60 7 =i 65% 424

50 3 3m 90% 554

40 7 3w 100% 624

feoquft . (1)  wden ¥ Suferm faenfei o e W@ 1200 7
(2) odten § g off ferenef arpsiol T gem ¥
(3) ek fammeft 3 e Tk Than et et TiieT steren aeie aiian | & 9 fam g

Sub questions

Question Number : 1 Question Id : 4255893827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feat 5 70 31eran 70 ¥ ik T 80 | W ik W T Al ferenfei=i ot Hem | qeiel | 80 SA9en 80 §
Aferer oieF W S Aot famnfeE w5 g o A e g 2

(1) 330
(2) 228
(3) 272
(4) 284

Options :

42558914856. 1
42558914857. 2
42558914858. 3
42558914859. 4

Question Number : 2 Question Id : 4255893828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

féat # 50 SA%a1 50 | Afeer 9= 60 ¥ W 35k U F Al fornf2@i =t G ® Srel H 40 S9ar 40
3ieh 9 @Ik T 50 3feF T W 27 U A o faenfEi ot den 9 s = e ?
(1 12:11

(2 8:7
(3) 3:1
(4) 13:5

Options :

42558914860. 1
42558914861. 2
42558914862. 3



42558914863. 4

Question Number : 3 Question Id : 4255893829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fadi # 80 =1eren 80 ® ferek ¥ wre H¥A aret Ternfei =1 Hen =1 dSiel § 60 19 60 7% 9 e

W 70 SR W FwH 3 Y w4 o Tt o gen | % A T |
(1) 46
(2) 54
(3) 44
@) 52
Options :

42558914864. 1
42558914865. 2
42558914866. 3
42558914867. 4

Question Number : 4 Question Id : 4255893830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YSTEl H 70 AGS1 70 ek § SAfHeE 9w 80 Sk § wH Ui ool farenfeldl w1 e o @< # 40 stemn
40 37 9 ¥ W 50 3F | W Aiss arel fanfefi i emn & o= w1 i @ g ?

(1) 20
(2 16
() 14
@) 30

Options :

42558914868. 1
42558914869. 2
42558914870. 3
42558914871. 4

Question Number : 5 Question Id : 4255893831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
USTEt H 50 el 50 37 € HAF T 60 3F H HH Ui Ao fomnffE @ e o & 6 50 e
50 37 | AfF W 60 3IF H FH Ui art faenfei=i #1 & &1 oiaa =0 872

(1) 180
(2) 150
(3) 200
(4) 140

Options :

42558914872. 1

42558914873.2

42558914874. 3

42558914875. 4

Sub-Section Number : 2
Sub-Section Id : 425589158
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 4255893832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The role of a teacher in the simulation model is that of
(1) Explaining

(2) Designing

(3)  Describing

(4) Chosing activity

Options :

42558914876. 1

42558914877. 2

42558914878. 3
42558914879. 4

Question Number : 6 Question Id : 4255893832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR Hieel § U foasrr 5 e Eald
(1) T A ()

(2) SIfvFHeTHE

(3) = FH

(4) FTEFETT I

Options :

42558914876. 1
425589148717.2
42558914878. 3
42558914879. 4

Question Number : 7 Question Id : 4255893833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The CBCS (Choice Based Credit System) in higher education promotes :
(1) Rigid Curriculum structure

(2) Flexibility in course selection

(3) Limited student choices

(4) Only theoretical learning

Options :

42558914880. 1

42558914881. 2

42558914882. 3
42558914883. 4



Question Number : 7 Question Id : 4255893833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F=aar e o o1& e (FEA enania e fawen) frefafea = deafed st

(1) =7 greT=d] §3EA1
(2) UISTRH FEA H ARAEA
(3) Bl o WA HitHd =5 o fawe
(4) Fae Haifae stfrm
Options :

42558914880. 1
42558914881.2
42558914882. 3
42558914883. 4

Question Number : 8 Question Id : 4255893834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the problem-solving strategy.

(A) Generate many possible solutions

(B) Determine how to implement the solution and evaluate the success of the solution
(C) Make a decision

(D) Evaluate each solution

(E) Define the problem

Choose the correct answer from the options given below.
(1) BEADC

(2} E ADCB

3) A, BCDE

4 CABED

Options :

42558914884. 1

42558914885. 2

42558914886. 3
42558914887. 4



Question Number : 8 Question Id : 4255893834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HHST-FHMM 1 WHIfad] ] SFaferd Shife

(A) 3T Hya FHIEE F 30 FHAT

(B) @& MuiRa =T ff oMM o1 34 fopanf= foran STe. o7 S o1 Sherdl 1 Y Jedisd &
il

(C) faoim o

(D) Uik GHIHM 1 Hedidhd Tl

(E) TwE1 1 9fsfud e

= feu o faedi § ¥ WE ST A -

(1) B,E AD,C

(2) EAD,CB

(3) A, BCDE

(4 C,ABED

Options :

42558914884. 1
42558914885.2
42558914886. 3
42558914887. 4

Question Number : 9 Question Id : 4255893835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Learning for all implies :

(A) Inclusive Education

(B) Equitable Education

(C) Inclusive and Equitable Education
(D) Quality Education

(E) Categorized based Education
Choose the correct answer from the options given below.
(1) A, Band D only

(2) A andE only

(3) Conly

(4) Donly

Options :

42558914888. 1

42558914889. 2

42558914890. 3
42558914891. 4



Question Number : 9 Question Id : 4255893835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

asft & fog siferm = ared ®
(A) THEE foan

(B) =IrEETd foisn

(C) WM iR = forer
(D)  T[UrerTE e

(E) arfierto—3Trerfia forem

9 feu o faskredi § 9 W& T A ¢
(1) oaa A, B3RD

(2) HIA A SARE

(3) e C

(4) oA D
Options :

42558914888. 1
42558914889. 2
42558914890. 3
42558914891. 4

Question Number : 10 Question Id : 4255893836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1 :
List - 1
(Learning style)

A. Convergent

B. Divergent

C.  Assimilation

D. Accommodative

L
IL

1.

V.

List - II

(Strengths)

Creating theoretical model

Practical Application of ideas

Carrying out plans and tasks that involves students
in new experiences

Imaginative ability and generation of ideas

Choose the correct answer from the options given below :

(1) A-L B-I, C-lI, D-IV
(2) A-IL, B-I, C-III, D-IV
(3) A-ILL B-IV, C-I, D-1II
(4) A-IV, B-I, C-II, D-II
Options :

42558914892. 1

42558914893.2

42558914894. 3

42558914895. 4



Question Number : 10 Question Id : 4255893836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
T -1 T - 11
( arferm gt ) (vfe)

A.  aifvmfa I Hgifas feel =1 gfsa e

B. fw= 1. fo=mi = sy

C. AR 1. 39 FArsed IR &Ml &l &, 5 e
aval | faenedt wrieRt w3 €1

D. HHEEAYO IV. heareTeh & SR fa=mi sl 3= &

= fau o foeredi o ¥ wWE W A ¢

(1) A-l B-II, C-1II, D-IV
(2) AL B, CII, D-IV
(3) A-IL B-1V, C-I, D-1II
4) A1V, B-L CIII, D-II

Options :

42558914892. 1
42558914893.2
42558914894. 3
42558914895. 4

Question Number : 11 Question Id : 4255893837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Exploratory Research ?

(1) It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

(2) It studies subject about which either no information or the limited information is available.

(3) It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

(4) Itis based on common sense knowledge based on the accumulated experiences and beliefs of
the people.
Options :
42558914896. 1
42558914897. 2
42558914898. 3
42558914899. 4



Question Number : 11 Question Id : 4255893837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AU STeT -1 Brel & 7

(1)

()

(4)

I8 Ao fefadi, Arfser semat, wrfsren srawenaii, e e, sTfe & 9uie T B
IeeRdl SaceR/315999 Fd] & SR 99 98 90 R § foh 399 == )

7IE UH faua 1 319 &ia1 © F9meh 9 | 91 9 i ga SUers el © 9 Hiiid gE 3uers
gl
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.

7% AR % Wi sHveE 9 favam e ges 9fg 79

Options :

42558914896. 1
42558914897.2
42558914898. 3
42558914899. 4

Question Number : 12 Question Id : 4255893838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Explanatory research 7

(1)
(2)

()

(4)

It studies subject about which either no information or the limited information is available.

It describes social situations, social events, social systems, social structures etc. The researcher
observes/studies and then describes what did he find ?

It explains the causes of social phenomena. Describing the magnitude and nature of crimes
committed by females in India is one aspect of female crime but why do they commit crime is
its explanatory aspect.

It is based on common sense knowledge based on the accumulated experiences and beliefs of
the people.

Options :

42558914900. 1
42558914901. 2
42558914902. 3
42558914903. 4



Question Number : 12 Question Id : 4255893838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U ST 7 el © 2
(1) =e UY faua =1 semae & Fomes o | 1 O g g Suas Tl € A1 Siihd gEe S €

(2) @ TritsTe feafedl, grafses semell, Tmmfees saewensti, arfess Sramet, snfe 1 9o e €|
YTeRRdl ST/ AT Al © R T8 € J0A Ll ¢ b 39 = I T 7
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€l
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Options :
42158914900.1
42558914901. 2

42558914902. 3
42558914903. 4

Question Number : 13 Question Id : 4255893839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Standard deviation (S) and coefficient of Variation (CV Expressed as a percentage) of different
datasets are given in A-D, below. Compute the mean of each dataset and arrange in ascending
order.

A. S=4,CV = 40/9
B. 5=50CV =462
C. S=14,CV =70/3

D. S§=16,CV =160/7

Choose the correct answer from the options given below :
(1 CBDA

2 CDBA

3) ADBC

4 D,BCA

Options :

42558914904. 1
42558914905. 2
42558914906. 3
42558914907. 4



Question Number : 13 Question Id : 4255893839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=1 el o A o= (S) S Y8R & Hed[uish (CV wfcsrear # =ek) 99 A-D | fau 70 81 9
BIEEE o HILF ! O] Hifeg 3T A€ 570 § =Fafeerd hifsi :

A. S=4CV =40/9

B. 8=50CV =625

C S=11.CV= 7073

D. S5 =16,CV = 160/7

3 fom o foreredti H & W ST -

() ©.B.DA
(2) CD,B,A
(3) A DBC
(4 D,B,C A
Options :
42558914904. 1
42558914905. 2

42558914906. 3
42558914907. 4

Question Number : 14 Question Id : 4255893840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the risks of plagiarism for the researcher who plagiarises ?
A.  Losing of the Inspiration

B. Losing of the obtained titles

C. Destruction of obtained solutions

D. Destroying the public image

Choose the most appropriate answer from the options given below :

(I) A andC Only

(2) Band C Only

(3) Band D Only

(4) Cand D Only
Options :

42558914908. 1
42558914909. 2
42558914910. 3
42558914911. 4



Question Number : 14 Question Id : 4255893840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
weRkal o fe o § - wifefoaes < &% Sifem €2
A, U F B
B. T YN o B
C. 9 §HIHHE k1 foAm
D. i Bfa &1 fasy
= feu U fosredi | 9 W& I A ¢

(1) o A 3RC

(2) A BIRC

(3) aA B SR D

(4) @ C 3R D
Options :

42558914908. 1
42558914909. 2
42558914910. 3
42558914911. 4

Question Number : 15 Question Id : 4255893841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - II
- | . B
opulation mean dan = . Oopulation sitandaar eviaiuon (o
[Populat () dNZx,] [Populat tandard deviation (o)]
2 2=117
A, u=9, ﬁzlf— L. 10
10, — 5 x2=200
B. u=10, ﬁz.xi— I 4
Ly 200 :
C. u=1, Ez:r,-— . 6
1 2
D. u=12, ﬁZx,- =160 IV. 9

Choose the correct answer from the options given below :
(1) A-II, B-1V, C-1, D-II

(2) A-LL B, C-IV, D-1II

(3) A, B-I, C-IV, D-II

(4) A-L B-1V, CI, D-11II

Options :

42558914912. 1

42558914913. 2

42558914914.3
42558914915. 4



Question Number : 15 Question Id : 4255893841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

. 1. 5 .
[ SEEAT We () N ﬁfo ] [SEE " faere T (o)]

|

A, u=9, EZI,:H? L 10
I

B, u=10, X% =200 I 4
1 2

C. u=11, §2x5=202 . 6
1 2

D. u=12, szf-:lﬁﬂ IV. 9

= feu o foepedi H 9 @& T A -

(1) A-II, B-1V, C-I, D-II
(2) A-IL B-I, C-1V, D-1II
(3) A, B-1, C-1V, D-II
(4) A-L B-1vV, C-I, D-1II

Options :

42558914912. 1

42558914913. 2

42558914914.3
42558914915. 4

Question Number : 16 Question Id : 4255893842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first talkie feature film made in India ?
(1) Ardeshar Irani

(2) Ritwik Ghatak

(3) Dada Saheb Phalke

(4) Bimal Roy

Options :

42558914916. 1

42558914917. 2

42558914918. 3
42558914919. 4



Question Number : 16 Question Id : 4255893842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s # fAfa wam serd (2R drer firen =1 fHeem fore fean an ?

(1) 3T/ A

(2) fifeer ===%
(3) T HE HIeh
(4) foma
Options :

42558914916. 1
42558914917.2
42558914918. 3
42558914919. 4

Question Number : 17 Question Id : 4255893843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who directed the first film made in India ?
(1) Satyajit Ray

(2) Dada Saheb Phalke

(3)  Prithvi Raj Kapoor

(4) Ardeshar Irani

Options :

42558914920. 1

42558914921.2

42558914922. 3
42558914923. 4

Question Number : 17 Question Id : 4255893843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sy 7 fAfa gem fren =1 fadee forem foram en?
(1) Fegsia 1

(2) <€l |Es Feh

(3) g T FR

(4) STRIR AT

Options :

42558914920. 1
42558914921.2
42558914922. 3
42558914923. 4



Question Number : 18 Question Id : 4255893844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct chronological order of the following television programmes released on
Doordarshan in India (from earliest to latest)?

A.  Mahabharatha
B. Chandrakanta
C. Hum Log

D. Ramayana

E. Buniyad

Choose the correct answer from the options given below :
1 & BC BE

2} CEDAB

3) BC A DE

4 B, ADEC

Options :

42558914924. 1

42558914925. 2

42558914926. 3
42558914927. 4

Question Number : 18 Question Id : 4255893844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R H e W e eefifasm Frfsmei it Wet doskn (Faifus sifvyes § F&@aq aF) #n € ?

A, HEWA
B.  =ehidl
C. B9
D. ImEW
E. dfr
=1 feu o fasedi § 9 W@ ST A ¢

) ABCDE

0 CED,AB
@) B,C A DE
4) B,AD,EC

Options :

42558914924. 1
42558914925.2
42558914926. 3
42558914927. 4



Question Number : 19 Question Id : 4255893845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following films are directed by Satyajit Ray ?

A, Madhumati
B. Apur Sansar
C. Sujata

D.  Aparajito

E.

Pather Panchali

Choose the most appropriate answer from the options given below :
(1) B, D and E Only

(2) A and C Only

(3) A, B, CandD Only

(4) A, Band COnly

Options :

42558914928. 1

42558914929. 2

42558914930. 3
42558914931. 4

Question Number : 19 Question Id : 4255893845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= o | Tegsiia Y gr fefvm frew m o €2

A, HEHA

B. X HER

C. g

D.  Sfuufedl

E. W gt

Fr= fau o fosredi 8 9 W& T A ¢
(1) @ B, D 3RE
(2) FFa A3RC

(3) @FaA A, B,C3RD
(4) oFEA A, B3R C
Options :

42558914928. 1
42558914929. 2
42558914930. 3
42558914931. 4



Question Number : 20 Question Id : 4255893846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - 1 List - II
(Meaning) (Terms)
A.  Who L. Receiver
B.  Says what II. Communicator
C.  In which channel III. Message
D. To whom IV. Medium

Choose the correct answer from the options given below :
(1) A-I, B-1I, C-I, D-IV

(2) A-L B-1v, C1I, D-II

(3) Al B-II, C-IV, D-1

(4) A-Iv, B-1I, C-I, D-1II

Options :

42558914932 1

42558914933. 2

42558914934.3
42558914935. 4

Question Number : 20 Question Id : 4255893846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1o Gt - 1 At
e -1 - 11

(3ref) (7g)
A, A I T ol
B. @Al . HEE
Cc. Trg=aeH [ H3w
D. fe&Ed V. W
9 feu o fawed § | wé s 9

(1) A-l, B-IL C-1I, D-IV
(2) Al B-1Iv, CII, D-II
(3) A-II, B-III, C-1V, D-I
(4) A-IV, B-1I, C-I, D-1II

Options :

42558914932. 1

42558914933.2

42558914934. 3
42558914935. 4



Question Number : 21 Question Id : 4255893847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (7) in the series given below.
7, 12, 32, 122, 2, 3602, 252(2

(1) 602
(2) 610
(3) 702
(4) 622
Options :

42558914936. 1
42558914937.2
42558914938. 3
42558914939. 4

Question Number : 21 Question Id : 4255893847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
3G HE&A 1 9l oG S e # 9 o (2) 1 wiaeniud 6 |
7,12, 32, 122, 7, 3602, 256202

(1) 602
(2) 610
(@) 702
(4) 622
Options :

42558914936. 1
42558914937.2
42558914938. 3
42558914939. 4

Question Number : 22 Question Id : 4255893848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language :
‘NOIDA" is written as : 1, 4, 9, 15, 14
‘INDIA’ is writtenas : 1, 9, 4, 14, 9
How ‘"HELLO’ will be written in this language ?
(1} 15,12,12,5,8

{2y 5,12, 12,15 8

(3) 8,5 12,12, 15

(4) 12,5,12,8,15

Options :

42558914940. 1

42558914941. 2

42558914942. 3
42558914943. 4



Question Number : 22 Question Id : 4255893848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HaTT FZ AW H :
‘NOIDA’ 1 ‘1, 4, 9, 15, 14’ & ¥9 ¥ foan 9 T
‘INDIA’ %171, 9, 4, 14,9 % ¥4 ¥ foran mam g
IR Y H ‘HELLO' %l Y feran s ?
(1) 15,12, 12,5, 8
(2) 5,12, 12,15, 8
(3) 8,5 12,12, 15
(4) 12,5, 12, 8,15

Options :

42558914940.
42558914941.
42558914942.
42558914943.

AW N~

Question Number : 23 Question Id : 4255893849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement(s) is/are wrong ?

A. A man runs at a speed of 20 km/hr and covers a distance of 400 m. The time taken by the
man to cover 400 m is § minutes.

B. A person covers a certain distance at x km/hr and an equal distance at y km/hr. The

average speed during the whole journey is ﬁ km/hr.

1
C. A Cydlist covers a distance of 750 m in 25 minutes. The speed of the cyclist is 18 km/hr.

5x
D. A speed of x km/hr is equal to E m/ sec

Choose the most appropriate answer from the options given below :
(1) A Only

(2) Aand BOnly

(3) A and C Only

(4) B, CandD Only

Options :

42558914944. 1

42558914945.2

42558914946. 3
42558914947. 4



Question Number : 23 Question Id : 4255893849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e & | F9 T8 weH e §2

A, afe ws =fa 20 /e # 0f | Sea T o 400 WX # g8 79 AT €, 91400 H. g @
w0 H 39 8 fige &1 90 o ©

B. W& =AfH x &= =i nfa ¥ wah <t 70 o & iR 3o & gy TR e =t fa § sa e 2
2
el I T ST sia T %ﬁﬁq}fﬁ%%
C. & HEfaa =@ 750 Hiz & gl 2% e © a9 a1 €1 39 HiEfehel =eteh #1 fd 18 fRei=a
el

D. xRt/ =R f—s AT % S

= fau o foeredi § | Wé 3 A ¢
(1) A A

(2) e A BB

(3) oA A SR C

(4) %Fa B,C3RD
Options :

42558914944. 1
42558914945. 2
42558914946. 3
42558914947. 4

Question Number : 24 Question Id : 4255893850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a producer allows 36% commission on the retail price of his product, he earns a profit of
8.8%. What would be his pmfil if the commission is reduced by 24% ?

(1) 36.6%
(2) 49.6%
(3) 59.6%
(4) 45.6%

Options :

42558914948. 1
42558914949. 2
42558914950. 3
42558914951. 4



Question Number : 24 Question Id : 4255893850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S HIE IAEF ST 3G ok el Yod T 36 e FHEH a1 7 9 39 8.8% T W < ¥ 1 Af 3w
FHA H 24 GFa9rd 1 Frdr oL < Sl 39 fhRan ey e g ?
(1) 36.6%
(2) 49.6%
(3) 59.6%
(4) 45.6%
Options :
42558914948. 1
42558914949. 2

42558914950. 3
42558914951. 4

Question Number : 25 Question Id : 4255893851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A sum was put at simple interest at a certain rate for 3 years, Had it been put at 1% higher rate, it
would have fetched ¥5100 more. Find the sum.

(1) < 170,000

(2) ¥ 150,000

(3) 175,000

(4) ¥ 200,000

Options :

42558914952. 1

42558914953.2

42558914954. 3
42558914955. 4

Question Number : 25 Question Id : 4255893851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ek Y09 i fordt aram samet € W 3 99 & foan sman © 1 afe 39 vt = 1% eifues gt o fean s
1T 5100 21fersk U B9 1 39 GFAf 1 T ey |
(1) % 170,000
(2) % 150,000
(3) ¥ 175,000
(4) T 200,000
Options :
42558914952, 1
42558914953. 2

42558914954. 3
42558914955. 4



Question Number : 26 Question Id : 4255893852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements contradict each other ?

A, All ducks are birds.

B. Some ducks are birds.

C. Some ducks are not birds.

D. No ducks are birds.

Choose the most appropriate answer from the options given below :
(1) AandD Only

(2) Band COnly

(3) Band D Only

(4) Cand D Only

Options :

42558914956. 1
42558914957. 2
42558914958. 3
42558914959. 4

Question Number : 26 Question Id : 4255893852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefea #§ & %F-9 oA TF g 1 S Hd © 2

A, Ot s vl B €

B. %o @ Ul g €

C. Osft s el el o

D. I o el e g |

1 fau o fasredi o | wWé s A -
(1) oFFA A AR D

(2) FFABERC

(3) <A B ERD

(4) FA C AR D

Options :

42558914956. 1
42558914957.2
42558914958. 3
42558914959. 4



Question Number : 27 Question Id : 4255893853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the statement “No birds are animals” is given as false, which of the following statements can be
inferred to be true ?

A.  Some animals are not birds.

B. Some birds are not animals.

C. Some animals are birds.

D. Some birds are animals.

Choose the most appropriate answer from the options given below :

(1) Aand BOnly

(2) Cand D Only

(3) B Only
(4) A, B, CandD
Options :

42558914960. 1
42558914961. 2
42558914962. 3
42558914963. 4

Question Number : 27 Question Id : 4255893853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ife o e vt SR TR B ' S S " W © O refatEa # ¥ A wuE F T e #\
STHF TR 1 Fehall © 2

A, T SR el 72 8 €

B. F® Ul SHaX & & €|

C. &8 IR 9&fi 2 €1

D. %o el STer 2 € |

1 fau o foeredi # | WE s A ¢
(1) oaA A SATB

(2) oda C 3D

(3) <ReA B

(4) A,BC3RD

Options :

42558914960. 1
42558914961. 2
42558914962. 3
42558914963. 4



Question Number : 28 Question Id : 4255893854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“This is the richest fraternity on the campus; therefore Mr. X who is a member of this fraternity
must be one of the richest young man on the campus.” Which fallacy is involved in this
argument ?

(1) Fallacy of division

(2) Fallacy of irrelevant conclusion

(3) Red Herring

(4) Slippery slope

Options :

42558914964. 1

42558914965. 2

42558914966. 3
42558914967. 4

Question Number : 28 Question Id : 4255893854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" 21 Ui o FeH 95 aY 998 ©; ST 41 TE (X) ST 39 9T HYE % e ¢, ol TRET ok 9Hgan
A | 9 T B Afes | 39 gia | hiA-H1 Tehary forRmH € 7

(1) fere-<m

(2) iR fafg g

(3) YTHE HeRd

(4) TruegH Tad
Options :

42558914964. 1
42558914965. 2
42558914966. 3
42558914967. 4

Question Number : 29 Question Id : 4255893855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of increasing extension.
A.  Social Science

B.  Political Science

C.  Sciences

D. Politics of International Relations

Choose the most appropriate answer from the options given below :
(1] <4:B D

2 ACBD

(3) B DAC

4 DB AC

Options :

42558914968. 1
42558914969. 2
42558914970. 3
42558914971. 4



Question Number : 29 Question Id : 4255893855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa =1 92t ar@d & 0§ safe Fif

A.  HEE fagm

B. SHIfdfasH

C. fogm

D. s=Rifeg e s et
=1 feu 7o fased § ¥ W/E SR ¢

(1) CA,BD
2 ACBD
(3) B,DAC
(4 D,B AC
Options :
42558914968. 1
42558914969. 2

42558914970. 3
42558914971. 4

Question Number : 30 Question Id : 4255893856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the classical Indian school of logic, which of the following instruments of knowledge
is defined as the knowledge of the relation between a word and its denotation and is produced by
the knowledge of resemblance or similarity ?

(1)  Pratyaksa (perception)
(2) Anumana (inference)
(3) Upamana (comparison)

(4) Sfabda (verbal testimony)

Options :

42558914972. 1
42558914973. 2
42558914974. 3
42558914975. 4



Question Number : 30 Question Id : 4255893856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YT YA TeRIe Ha o S1aR Hefcfaa § 9 961 & {60 916H 1 v2 3 39 a5ad & o9 Ja4
% FH % w9 H gRenfud foran stran € 1R wigvad & 99 & ®9 H Ioa fohar s €2

(1) 9a&
(2) STIHM
(3) S
(4) ]
Options :

42558914972. 1
42558914973. 2
42558914974. 3
42558914975. 4

Question Number : 31 Question Id : 4255893857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is an example of IEEE 802.3 ?

(1) LAN
(2) MAN
(3) WAN
(4) PAN

Options :

42558914976. 1
42558914977. 2
42558914978.3
42558914979. 4

Question Number : 31 Question Id : 4255893857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa & & s34 802.3 (IEEE 802.3) foFant Us 3ereww 22
(1) TATEA. (LAN)

(2) THUTEA (MAN)

(3) T=E.LE. (WAN)

(4) WL (PAN)

Options :

42558914976. 1
42558914977. 2
42558914978. 3
42558914979. 4



Question Number : 32 Question Id : 4255893858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following technologies is used in second generation of computer ?
(1) Vacuum tubes
(2) Transistors
(3) Integrated Circuits
(4) VLSI
Options :
42558914980. 1
42558914981. 2

42558914982. 3
42558914983. 4

Question Number : 32 Question Id : 4255893858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frferfaa & & St dRifmerT s i fadm G o vge =1 S e 2

(1) S g

(2) Fifores

(3) wHfwa Hfkew

(4) SLUATE.SE. (VLSI)
Options :

42558914980. 1
42558914981.2
42558914982. 3
42558914983. 4

Question Number : 33 Question Id : 4255893859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct sequence of increasing access time of storage/memory devices ?

A.  Magnetic tape
B. RAM

C. Cache memory
D. Hard disk

E. Registers

Choose the correct answer from the options given below :
1y A, BCDE

2y BECAD

3) ECBDA

4 CEBAD

Options :

42558914984. 1

42558914985. 2

42558914986. 3
42558914987. 4



Question Number : 33 Question Id : 4255893859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

farafefiaa o & s LE/AHR SRl & ded (T 28T (TEH 9H4) T % €7

A.  HHfesw 29
B. 1 (RAM)
C. 9 "EH
D. @ fe=r
E

. =

9 feu v faedi § | wE S 9
(1) A BCDE

(2) BECAD

(3) EC B,D,A

(4) CEBAD

Options :

42558914984. 1

42558914985. 2

42558914986. 3
42558914987. 4

Question Number : 34 Question Id : 4255893860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
With reference to cyber attacks, which of the following statements are correct ?

A Malware is a malicious software designed to cause damage to a single computer, server or
computer nebwork.

B.  Types of malware include computer viruses, worms, trojan horses, ransomware and spyware.
C. Pegasus is a malicious software classified as Ransomware.

D. India is not a signatory to the Budapest convention on cybercrime.

Choose the most appropriate answer from the options given below :

(I) A Band COnly

(2) B,CandD Only

(3) A, B CandD

(4) A, Band D Only

Options :

42558914988. 1
42558914989. 2
42558914990. 3
42558914991. 4



Question Number : 34 Question Id : 4255893860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefiaa # § 9 Fud aeet eaal & gef o we €2
A, TEER O fagug SiweeR € o U Ukl e, et A e Aeeh o AR wgeH o ferg
sAfvrerfeaa T T B
B.  HIETRR % USRI H FFeR Ry, d1e, 2o 2, FEHag 3R WEeeR aftfed €
C. YT SR % B9 T oifieha wek fagergol aidesT ¥
D. 9Rd HEE- 390 T FEre ARRTg W UF SEaaEd oF 76 g

= fau o foeredi § | W& T A ¢
(1) &aa A, B3RC

(2) @&d B, C 3D

(3) ABC3RD

(4) oFFd A, B3RD
Options :

42558914988. 1
42558914989. 2
42558914990. 3
42558914991. 4

Question Number : 35 Question Id : 4255893861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - 1 List - II
(Operating system) (Task)
A. UNIX 152 Assist users in system maintenance task
B. MS-DOS I[I. Mobile device
C.  Android OS III. Single user operating system
D.  Utility programs IV.  Multi user operating system

Choose the correct answer from the options given below :
(1) A-I, B-IV, C-1, D-II

(2) A-L B-II, C-1V, D-1II

(3) A-LV, B-lIlI, C-11, D-1

(4) A-Il, B-I, CI, D-IV

Options :

42558914992. 1

42558914993. 2

42558914994. 3
42558914995. 4



Question Number : 35 Question Id : 4255893861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

( erroufeT fawewm) (=Td)
A, FUAHAETH. (UNIX) [.  YUTel % TEvEE FE H el
1 FETFdl L @ |
B. TATH.EM (MS-DOS) . Hiarse 39
C. T=ERE ALTHE. (Android OS) 1. foe gor sfen fae=n
D. Fffeet dmms (ST FEy) IV. Wedl-gor sfifer fawen
=1 feu o fasredi § ¥ W@ IW A ¢

(1) A-lI, B-IV, C-I, D-II
(2) A-l B-II, C-IV, D-III
(3) A-IV, B-III, C-1I, D-1
(4) A, B-1I, CI, D-1IV

Options :

42558914992. 1

42558914993.2

42558914994. 3
42558914995. 4

Question Number : 36 Question Id : 4255893862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about coliform bacteria ?

A.  They are used to test water contamination.

B. Coliform bacteria are harmless and cause no disease.

C.  They are found naturally in human intestinal tract.

D.  Their presence in water is an indication of fecal contamination.
Choose the most appropriate answer from the options given below :
(I) AandD Only

(2) Band COnly

(3) A, CandD Only

(4 A B CandD

Options :

42558914996. 1
42558914997.2
42558914998. 3
42558914999. 4



Question Number : 36 Question Id : 4255893862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa 5 9 Fafered siam & an § FH9 FoH 96§ 2

A, T® Sa-9guW F afta § ygad feen S

B.  wIfawH Siiamy e e ¥ 3R foRe I 1 3o 7 &ed §
C. T OGN 71 H o §9 § 9 S ¥

D. ¥ gl faemmar faen dgum %1 uF ek 2

1 feu o foedi # | 9@ SR T ¢
(1) aa A 3RD

(2) A BIRC

(3) HIA A, C3HRD

(4) A, B, C3RD
Options :

42558914996. 1
42558914997. 2
42558914998. 3
42558914999. 4

Question Number : 37 Question Id : 4255893863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why is the concentration of CO, is more in the Northern Hemisphere than the Southern
Hemisphere ?

A. Land mass is more in the Northern Hemisphere.
B. Ocean body is more in the Southern Hemisphere.
C. Fossil fuel is burnt more in the Northern Hemisphere.

D.  Northern Hemisphere is colder than the Southern Hemisphere.
Choose the most appropriate answer from the options given below :
(1) A andC Only

(2) B,CandD Only

(3) A, Band COnly

(4) Band D Only

Options :

42558915000. 1
42558915001. 2
42558915002. 3
42558915003. 4



Question Number : 37 Question Id : 4255893863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
gfaqor Tl st qer # ST Trensd § CO, H Wh<w i o7fuE T2
A, I Tieny # ym-fiE sfuw g
B.  Gfeor e W HeTan SAEF T |
C. =udl Tirend # Sfawy fum e1fues e €
D.  <f&or Tirensl st qern # Sad e sifue gve €

A= feu o fasred # T W@ IO
(1) aa AR C

(2) @%ad B, C #iR D

(3) HaA A, B3R C

(4) e B B D

Options :

42558915000. 1
42558915001. 2
42558915002. 3
42558915003. 4

Question Number : 38 Question Id : 4255893864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Increasing the ratio of fissile Uranium (U-235) in natural uranium is known as :
(1) Enhancement
(2) Concentration
(3) Accumulation
(4) Enrichment
Options :
42558915004. 1
42558915005. 2

42558915006. 3
42558915007. 4

Question Number : 38 Question Id : 4255893864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wkfaek e ¥ fagea 1y (3235) % A9um &1 gy e | | fmg w1 8 S e © 2
1 wifs

(2) HE=m

(3) H=EA

“ w3
Options :

42558915004. 1
42558915005. 2
42558915006. 3
42558915007. 4



Question Number : 39 Question Id : 4255893865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from initial to final, of surface waste water treatment ?
A.  Disinfection

B. Sedimentation

C.  Filtration

D.  Screening

Choose the correct answer from the options given below :
(1) A BCD

2 A BDC

3} D;B:.AC

4 D,BCA

Options :

42558915008. 1
42558915009. 2
42558915010. 3
42558915011. 4

Question Number : 39 Question Id : 4255893865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el UM STel SYER 9 STRIYE § oifaw, Tef o wn e ?

A, ToEsEm

B. HawEEA

C. freued

D. GRIT

1 fau o fasredi o | wWé s A -

(1) ABCD
(2) A BD,C
(3) D,BAC
(4 D,B,C A
Options :
42558915008. 1
42558915009. 2

42558915010. 3
42558915011. 4



Question Number : 40 Question Id : 4255893866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are differences between Modified Mercalli Scale (MMS) and Richter Scale
(RS) ?

A. RS measures the energy released while MMS measures both energy and devastation
B. RS uses linear scale while MMS uses logarithmic scale

C.  Value of RS is constant in an earthquake while MMS varies depending upon distance
D. Levels in RS is more than MMS

Choose the most appropriate answer from the options given below :

(1) Aand BOnly

(2) Band COnly

(3) Cand D Only

(4) A and C Only

Options :

42558915012. 1
42558915013.2
42558915014. 3
42558915015. 4

Question Number : 40 Question Id : 4255893866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TN ALehell Thel (TH TH TF) AR T ©hel (31 TH) & o9 #=1-31 dAa €7

A. ¥ UY Hifad el & HYal § SefE TH Uy vy Sei T Iw9ed S i HIal B

B. IR UY L&Y THel T WA FAl © Tl TH UH U9 AR 0 Shet 1 WERT e ¥
C. b9 ¥ 3R TH & AH feer 2 & sEfe w7 wn vy # it % SER fiea 3 2

D. TUH UY TH F 37947 3R 09 H T 2774 24 2|

= feu o fomredi O | W@ SR A -
(1) ©oFaa A JARB
(2) FFABERC
(3) oEa C 3R D
(4) FEA A ARC
Options :

42558915012. 1
42558915013.2
42558915014. 3
42558915015. 4



Question Number : 41 Question Id : 4255893867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In an ancient period, the Diksha Guru performed his duty as :
(1) Guru of secular subjects

(2) Spiritual guide for both girls and boys
3)

( Spiritual guide of boys
(4) Tutor
Options :

42558915016. 1
42558915017.2
42558915018. 3
42558915019. 4

Question Number : 41 Question Id : 4255893867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e H St TE % ®9 T o9 Felea 1 el wear o
(1) =@ o faet ol =1 & o

(2) TSfRAl 3T TASHI SHI 1 ATEATHE ANGYH ol

(3) IR H1 Ao ArTEIiE o

(4) HMEF (2T0) F 9 H 9 Fded &1 Fee war o

Options :

42558915016. 1
42558915017.2
42558915018. 3
42558915019. 4

Question Number : 42 Question Id : 4255893868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which international organization co-ordinates the education for all programme at the global
level ?

(1) UNDP
(2) UNESCO
(3) IMF

(4) UNEP
Options :

42558915020. 1
42558915021.2
42558915022. 3
42558915023. 4



Question Number : 42 Question Id : 4255893868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT ST e, Sfvas T W geres forw e sy &1 gued w8 2

1 AWIHR
@ TR

(3) o UH UH
4 Jwgd
Options :

42558915020. 1
42558915021. 2
42558915022. 3
42558915023. 4

Question Number : 43 Question Id : 4255893869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the correct chronological sequence.
A.  Establishment of the University of Madras

B. Introduction of the Indian Universities Act

C.  Establishment of UGC

D.  First National Education Policy of India

Choose the correct answer from the options given below :
1y ABCD

2y A DCB

3) BCAD

4 C B AD

Options :

42558915024. 1
42558915025. 2
42558915026. 3
42558915027. 4



Question Number : 43 Question Id : 4255893869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefafEa seT1eti 1 el ey H Sqaited Hifd |

A, WEY favafaEme™ & =

B. YRdE favafasmed sifufam & quEmE
C. fovafaerem =M @R (ST ) F T
D. 9Rd @ Yol Uiy foen Hifa

= feu o fosed § | wé A -

(1) A, BCD
2 ADGCH
(3) B,CAD
(4 C,B,A D
Options :
42558915024. 1
42558915025.2

42558915026. 3
42558915027. 4

Question Number : 44 Question Id : 4255893870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per National Education Policy 1986, the major functions of the National Apex Body are :
To allocate resources

To evaluate the examination system

To advise government on policy

To encourage inter-disciplinarily and promotion of interfaces among different areas.

mO0® e

To conduct research in higher education

Choose the correct answer from the options given below :
(1) A C EOnly

(2) B,D and E Only

(3) €, DandE Only

(4) A Cand D Only

Options :

42558915028. 1

42558915029. 2

42558915030. 3
42558915031. 4



Question Number : 44 Question Id : 4255893870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U T Hifa 1986 % STHR T Y fHepma (F9a T 91el) & 9qE % ©
A, HEYA A€fed FmE

B.  RI&T YUNE 1 oA HTA

C. ifd % Geiy ® ALER H TAE 1

D. s-fougsradl & sgen e &R fu=i-fa= &5 & sfaugei &t agen o
E.  3=a foan § 9y e

= feu U foskedi § | W& I A -

(1) & A, C,E

(2) %ad B, D 3RE

(3) %aa C, D3R E

(4) A A, C #RD
Options :

42558915028. 1
42558915029. 2
42558915030. 3
42558915031. 4

Question Number : 45 Question Id : 4255893871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :

List - I List - 1T
(Name of the institutions) (Function)
A. NIEPA 152 Ensuring Quality
B. RUSA II.  Providing loans to higher education institutions
C. QAA I[II. Infrastructure development for upgrading the
existing colleges into model colleges
D. HEFA IV. Promoting Research in planning and management

Choose the correct answer from the options given below :
(1) A-L B-II, CI, D-IV

(2) A-lL B-II, C-MII, D-IV

(3) A-L B-1v, C1I, D-II

(4) A-IV, B-1II, C-1, D-II

Options :

42558915032. 1

42558915033. 2

42558915034. 3
42558915035. 4



Question Number : 45 Question Id : 4255893871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
Tt - 1

TEAT T A0
A, T EE 3 U () L
B. SRIWHT IL
C. HTUU ML
D. THETHT IV.
= feu T faepedi § 4 WE S A

(1) A-I B-III, C-II, D-IV
(2) AL B-, C-III, D-IV
(3) A-l B-1Iv, C-II, D-II
(4) A-IV, B-1Il, C-I, D-II

Options :

42558915032. 1

42558915033. 2

42558915034. 3

42558915035. 4

Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

gt - 11

Eap |

T[oTerl G A

Fea Toren st deenedi o B0 yeH S

HIS[g1 wTersl oh1 TR Ferehl TeY e (Hiee FHers) a1
ST AR Ya e | 9 1 AeEtfed wE

3
425589159
No



Question Id : 4255893872 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions .

Forced by circumstances and in search of success and status, educated young men and women
settle far away from their parents. Some go abroad. The very education that the parents manage
to give to their children turns against them in the end. Their children go away in search of green
pastures leaving them alone. International community as well as our government is aware of
their problems. The UNO proclaimed the year 1999 as ‘International Year for the Aged’. In our
own country too the year 2000 was proclaimed ‘The Year for the Aged".

Article 41 of our constitution clearly makes it incumbent on the state to look after the aged.
There is a social welfare ministry responsible for the welfare of the aged. Laws are made from
time-to-time to protect the rights of senior citizens. For example under law parents cannot be
evicted from a house without due process of law under section 105 of the Criminal Procedure
Code. A magistrate can order a person to maintain his/her old parents under the Maintenance of
Parents Act. The Hindu Adoption and Maintenance act says that the aged parents can demand
for maintenance from their children. The Domestic Violence Act also provides parents with the
rights to seek relief from any kind of abuse.

Sub questions

Question Number : 46 Question Id : 4255893873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to passage, who usually leaves their parents in lurch ?
(1) Disobedient wards

(2) Frustrated youth

(3) Career seeker children settled in distant places

(4) The ones who have job insecurity

Options :

42558915036. 1

42558915037.2

42558915038. 3
42558915039. 4

Question Number : 47 Question Id : 4255893874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The year 1999 was proclaimed as :
(I) National year for the aged

(2) Universal year for the aged

(3) International year for the aged
(4) SAARC year for the aged
Options :

42558915040. 1

42558915041. 2

42558915042. 3
42558915043. 4

Question Number : 48 Question Id : 4255893875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



nder section of the criminal procedure code, parents cannot be evic rom a house :
Und tion 105 of tt al d d t t b ted f h

(1) Without due process of law

(2) In any situation

(3)  Without submitting their will

ess their property is transferred to their legal heir

4)  Unless their prop is transferred to their legal h
Options :
42558915044. 1
42558915045. 2

42558915046. 3
42558915047. 4

Question Number : 49 Question Id : 4255893876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who is empowered to give order to the concerned for the maintenance of their parents ?
(1) A retired judge

(2) Thejudge of the High-Court

(3) Local Sarpanch

(4) A magistrate

Options :

42558915048. 1

42558915049. 2

42558915050. 3
42558915051. 4

Question Number : 50 Question Id : 4255893877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Act/Section does give parents rights to seek relief from any kind of
abuse ?

(1) Hindu Adoption and maintenance Act

(2) Section 105 of CPC

(3) The Domestic Violence Act

(4) Section 98 of CPC

Options :

42558915052. 1

42558915053. 2

42558915054. 3
42558915055. 4



Question Id : 4255893872 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freferfae et &t sargde o 3it uvw Hem @ & S e

g 9 faeet 2o SR her U qe-afatel i @re § e 7Ey SR Afeard 7o Hal- o € 55
T W ¢ | F2 wafoa Tagw = s ¥ | wran-firan 2o =4t &1 fo foran 671 foen ww € 96 o § =9 fows
e o Tl € | 39 I=9 Get SOl 1 Erel § 3% ool 91 &d € | Sy auerd & WY- 9y el GUEr
IeR! THETS § uifad § 1 S T HWe A 9 1999 T Sfaim ggem o ' Hfa feren gar < H off = 2000
%1 oo od ' wifue foREn T o1 | SAR HiHH & ST Ess-41 H gasHi o fedl il a@uie o Ay T 1 e
ST ST T ¥ | TS oA WA ggerl & Fedm & fag saerdt ® | afte it % arferenl s geem
3 % o g 98 FH 99 S € | SeReond, #H & effa srafie < wfEar (L dd) #t ema-105
o i A i TE Yiwar & foe wra-foar &1 =) 9 SeEd T@l fFa S ekl | oo % o
e sifufm % sfmia afonee =afa 1 9% 95 ara-Toa 3 sXo-dmor 1 2ew € e ¢ 1 feg aae 8k
sor-dreor stferfrem § et T € foF g Wi e 1o S | 9Ror-ueor s Wi R weEd ¥ | e fean sifufrm
H foreht off e & Sfedeen ¥ Ted UM & g wrar-foar i sifeepr <9 i SFaeen i T T

Sub questions

Question Number : 46 Question Id : 4255893873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TP T SER i 3T T H e me-foa w S €2
(1) SRR s

(2 frwm g

(3) SE T W R = a9 =

(4) 9, TSR At STIiET §

Options :

42558915036. 1
42558915037.2
42558915038. 3
42558915039. 4

Question Number : 47 Question Id : 4255893874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a4 1999 =1 for| w9 7 =it ferzm simar a1 ?
(1) T FEe 9

(2) HEHHE gE=E 99

(3) SaUeg gge T

(4) EF (SAARC) g&sH a4

Options :

42558915040. 1
42558915041. 2
42558915042. 3
42558915043. 4

Question Number : 48 Question Id : 4255893875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ArRIfere <2 Ufshan & UmI-105 & 3favia urar-Toar = =] ¥ SeEd T6l B o g
(1) =T i g9 gfwan & fom

(2) ToRdm off feafa #

(3) IR e W ferg fer

(4) T TF ITH TEUCT ITH FIA ARG H STafed T F & A

Options :

42558915044. 1
42558915045.2
42558915046. 3
42558915047. 4

Question Number : 49 Question Id : 4255893876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafiaa # § #m Heifua safaq o1 s Ar-faa & sRor-de 1 e <7 % for g &2

(1) HartTga =mnd
(2) S=A AT T AT
(3) TUHE THE
(4) wfe
Options :

42558915048. 1
42558915049. 2
42558915050. 3
42558915051. 4

Question Number : 50 Question Id : 4255893877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea & | smaysFE afuf=mam fFa v & geioer | e 9 F fau qma-foa #1 sifier
WS FAVFTA & ?

(1) feg &k &R swo-dio sifufam
(2) HLELH = ¥0-105
(@) e o arfufm
(4) HHHF UR98
Options :

42558915052. 1
42558915053.2
42558915054. 3
42558915055. 4

Bengali
Section Id : 42558958
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 425589160
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 4255893878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fafor Te<ratTa ¥=m TG99 dvire -
1, W SFe G o
2, FIAFIE ACS
3, dibl oSy oY o

4, 9 BEeY G Sraw
Options :
42558915056. 1
42558915057.2
42558915058. 3
42558915059. 4

Question Number : 51 Question Id : 4255893878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fafen TeatTa ¥=w I979 &vfe fem-
1, W Sler Oy S
2, FIAFIE ACS
3, &bl e W e

4, 79y Sgor O erad
Options :
42558915056. 1
42558915057.2
42558915058. 3
42558915059. 4

Question Number : 52 Question Id : 4255893879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SIS I6A F cFuaiets omEy - «ff @ wEw vmE Tl 2
1, FwE Hegpe
2, lAWe AFS
3, W4 SO 9y o
4, EBI SIS O o

Options :

42558915060. 1
42558915061. 2
42558915062. 3
42558915063. 4



Question Number : 52 Question Id : 4255893879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TS IS T SR fete sy - «ff @ wEg vEE T 2
1. S AFS
2, tdme ATFe
3, W) OFor Oy o
4, &BI S O o

Options :

42558915060. 1
42558915061.2
42558915062. 3
42558915063. 4

Question Number : 53 Question Id : 4255893880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ArbI S O S o [ fme o) fem -
1, Toule

Options :

425589150064. 1
42558915065. 2
42558915066. 3
42558915067. 4

Question Number : 53 Question Id : 4255893880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ArbI S O S o [ fme o) fem -
1, Toule

Options :

42558915064. 1
42558915065. 2
42558915066. 3
42558915067 4



Question Number : 54 Question Id : 4255893881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

51T A TANeCS TS W@d (A2 SATST TY 7
1 3%

2, 28

3. Yo

4, R0
Options :
42558915068. 1
42558915069. 2

42558915070. 3
42558915071. 4

Question Number : 54 Question Id : 4255893881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S5 AR ZIaInere Fo N@d (ARl *New Ty 2

1, 3%
2. <8
3, %o

4, R0
Options :
42558915068. 1
42558915069. 2
42558915070. 3
42558915071. 4

Question Number : 55 Question Id : 4255893882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
treelie-aa windted 9t Tgle (e 2@-
PEIE 2 (g wQea- FEE 7
1. =q<F
2, 7%
3, W)
4, 9IS
Options :
42558915072. 1
42558915073. 2

42558915074. 3
42558915075. 4



Question Number : 55 Question Id : 4255893882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IreTeRe-qa WiMaed 930 Tgle (red 2@ -
FRoE 2 fagde e FEierE F
1, #WgF
2, 7
3, M
4. IR
Options :
42558915072. 1
42558915073. 2

42558915074. 3
42558915075. 4

Question Number : 56 Question Id : 4255893883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IFeAreI RS TMe A JOIE (F T4 14 2a0E?
1 G
2, q*
3, bR

4, “E
Options :
42558915076. 1
42558915077.2
42558915078. 3
42558915079. 4

Question Number : 56 Question Id : 4255893883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IFeAreI RS TMe A JOIE (F T4 14 2a0E?
1 G
2, q*
3, BgAA

4, P
Options :
42558915076. 1
42558915077.2
42558915078. 3
42558915079. 4



Question Number : 57 Question Id : 4255893884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘92 99 W% (o FelF (AIeeE
TS FARFICE (T2 @G % 79 |
wrefsiel 230 O HAY w24 | | - NFeEted 9 ] 93 et 99 (& ?

1, T
2, afEs
3, OGS

4, GISFE

Options :

42558915080. 1
42558915081.2
42558915082. 3
42558915083. 4

Question Number : 57 Question Id : 4255893884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘9% 97 Wi (o Ao (oA

TS AHIFICT (E12 (N I a4 |

ool R30S O FeHY 789 | ' - THOACST W o 92 Tea 9% @ 7
1, *0°

2, SITES

3. SqRe

4, GOEFIE
Options :
42558915080. 1
42558915081. 2
42558915082. 3
42558915083. 4

Question Number : 58 Question Id : 4255893885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT G HGACH T O O ©F T ?
1. WA
2. =
3, Ofs

4, T
Options :
42558915084. 1
42558915085. 2
42558915086. 3
42558915087. 4



Question Number : 58 Question Id : 4255893885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
W PANFAI] FF TCACH CHE S ©F ©F TF ?
1, WA

2, @ ==

3, ey

4,
Options :
42558915084. 1
42558915085.2

42558915086. 3
42558915087. 4

Question Number : 59 Question Id : 4255893886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

f foar afazar 997
Q@ T @ g2 - AT SO PG AT G @ @ T geve ?

1, e
2, T BT
3, WA

4, AT LAY
Options :

42558915088. 1
42558915089. 2
42558915090. 3
42558915091. 4

Question Number : 59 Question Id : 4255893886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo ol Qe 997
QA A @ G2 — AT GO PR AT G @ (@ AT G ?

1, Wt

2, A I

3, W

4, IR @AY

Options :

42558915088. 1
42558915089. 2
42558915090. 3
42558915091. 4



Question Number : 60 Question Id : 4255893887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GFFE (TR AN _ _ (@ ZORE S T e ey’
e (77 & Wie' RSN (AP (T AZADBCS IR AT b 2@ -
1, AL

2, Mrotes

3, AGTACeE

4, oL
Options :
42558915092. 1
42558915093.2
42558915094. 3
42558915095. 4

Question Number : 60 Question Id : 4255893887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THFEE (R G (@ TORE S0 Y30 S e’
g (-7 T We' IS (*TF (T FARACCS I AE * 2 -

1, TS
2, o
3, WIOTaLs

4, [
Options :
42558915092. 1
42558915093. 2
42558915094. 3
42558915095. 4

Question Number : 61 Question Id : 4255893888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"oigre 5 oy fecare &Y (=Eew?’ - MY WS QS B (AP (e GE AEABA
I A (@I S Ao 2 7

1, &fteeq

2, TS

3, fataa
4, e

Options :

42558915096. 1
42558915097.2
42558915098. 3
42558915099. 4



Question Number : 61 Question Id : 4255893888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SR ¢ O et WY (EE6RY - AW Wed RS Tl ([TF (Sh 9T AEAoa
I A @ G Ao 2 7

1, gitead
2, AL

3, frgta

4, Anereira
Options :
42558915096. 1
42558915097. 2
42558915098. 3
42558915099. 4

Question Number : 62 Question Id : 4255893889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
8 &We T G (@17 FROMbS FIE *M6a A2 e - 1 7
1. g6 @9 (@i
2. {ﬂﬂﬁ@

3, e
3, B

Options :

42558915100. 1

42558915101. 2

42558915102. 3

42558915103. 4

Question Number : 62 Question Id : 4255893889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

108 v 7 EIET (@1 FReibre S’ *miba 9 «heql A7 = 2
1, GG ([@F (P

2. (TS

3, e

3, &9

Options :

42558915100. 1
42558915101. 2
42558915102. 3
42558915103. 4



Question Number : 63 Question Id : 4255893890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEpbTaE FeA egied 9 [iva o2 @l A3, A2E e T T (F Teee oo @ e W6 F0E
&l QUG “rSEE S T B (FE A QR T 2R 2
1, qEE

2, =i

3 fﬁf"iﬁﬁ‘q\.ﬁ

4, TG
Options :
42558915104. 1
42558915105.2
42558915106. 3
42558915107. 4

Question Number : 63 Question Id : 4255893890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEpbTaE FeA egied 9 [iva o2 @l A3, A2E e T T (F Teee oo @ e W6 F0E
A TG THSEE S SO I (W TE ORI A T 7
1, qEE
2, faqr=t
3, Tofoi5s
4, S
Options :
42558915104. 1
42558915105. 2
42558915106. 3
42558915107. 4

Question Number : 64 Question Id : 4255893891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i B EEICRCEgPIIE I G BT T
TS SCAPIEIGET A4 ST A0 & e ?
1. @A
2, AA-7TPE
3, GeR
4, FHIG

Options :

42558915108. 1
42558915109. 2
42558915110. 3
42558915111. 4



Question Number : 64 Question Id : 4255893891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
At @z 2w e w2l
TS SCAPIEIGET A4 ST A0 & e ?

1, @A
2, WIHA-FASE
3, GaeR

4, FHE]
Options :
42558915108. 1
42558915109. 2
42558915110. 3
42558915111. 4

Question Number : 65 Question Id : 4255893892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘O ARG AQW NG ¢ (F, G5 a1 aHN S-#Cra Fe= 28re WA “fGq AT -
(TSR 129 ACHIED (FTF GB 72 1’
*gehm DLOIAIAICET ‘ST’ (G #F) SGeTHH ALHIET (N 1 (Sbld (TP i 7
1, fofqy famre(ras’ @< (1 7@ ‘QFIE’
2, Tefe sM@Riar e ‘@isess’
3, fof9 ‘Tore #IFTFs’ Fe Fare 92 (@R FEa
4, Tofey e qibice’ T we faor Dfesm = cites
Options :
42558915112. 1
42558915113.2

42558915114. 3
42558915115. 4

Question Number : 65 Question Id : 4255893892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘O ARG AQW NG ¢ (F, G5 a1 aHN S-#Cra Fe= 28re WA “fGq AT -
(FTICOR ©I2d ALPIED (FAF GLb M2 |’

*FLD® SLOALICET QI (HUN *K) SETHT FALHIAT (FNF I (@O (26 Sl ?
1, el Rere(wae’ qae (7 T ‘9F9E’

2, fofy smRIEr w9 @rstare

3, fof ‘gore “IFea’ F16 Face 998 (TR FEe

4, Ty FrEme Ibite’ I «e o e w=r ot

Options :

42558915112. 1
42558915113.2
42558915114. 3
42558915115. 4




Question Number : 66 Question Id : 4255893893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
foer a3 T T T (TaPepad 98 ToTa GFCE S A AEeE?
1, I
2, T
3, Gifery
4, Bfew

Options :

42558915116. 1
42558915117.2
42558915118.3
42558915119. 4

Question Number : 66 Question Id : 4255893893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foor af aag T T cTameFad I8 SITTd aSveE S e wAfecaize?

2, IO

—~

4, gfew
Options :
42558915116. 1
42558915117.2
42558915118. 3
42558915119. 4

Question Number : 67 Question Id : 4255893894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o @ g g 9w s e =1 -

ST ¢ B b e B ek e A B M o R i b
1. =5

2. 3AfBr-=fY

3, T FIFE

4, ou%Ed P
Options :
42558915120. 1
42558915121.2
42558915122. 3
42558915123. 4



Question Number : 67 Question Id : 4255893894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o e oeEE @6 wee s (e = -
‘-« @ O @ A (g @4 AT e, S e *wG e |

1, =1ife-=ifGr

2, Afor=mfe

3, A TIFT

4, STFF FIH
Options :
42558915120. 1
42558915121, 2

42558915122.3
42558915123. 4

Question Number : 68 Question Id : 4255893895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ol T @@ 92 g9t @enr =z -
OGN e fowre 92 wifase weaizy

= S FE-

1. 2

2, (ot

3, (R W NS

4, /& ==
Options :
42558915124. 1
42558915125.2
42558915126. 3
42558915127. 4

Question Number : 68 Question Id : 4255893895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“ofal+ie IR @F 92 gt @ear 2 -
Yo T foeaee @2 wifewe sfanfzy

TEE AT -

1. o

2, CEioET

3, (RY T F&

4, Tore 2=
Options :
42558915124. 1
42558915125. 2

42558915126. 3
42558915127. 4



Question Number : 69 Question Id : 4255893896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TS wel wel Feaar AAal qfaeE -
BT W fEEEe O
wyq el *foa ear el e
*=TEIC T0b (e =i 9T ?

1, FE
2, S
3, 94

4, A9
Options :
42558915128. 1
42558915129. 2
42558915130. 3
42558915131. 4

Question Number : 69 Question Id : 4255893896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Areree wol wof i AvfEn afae -
Qe W+ fearEa? oA _

%Y AT #CA oA v S
*[EIA 6% (I *i6 9 2

1, FE

2. G4

3, 99

4, 99
Options :
42558915128. 1
42558915129.2
42558915130. 3
42558915131.4

Question Number : 70 Question Id : 4255893897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘ol (I8l 408 (@OREI | [qgrea ST *ge, (514 I¢ 9T HCa @0, L 2

*wFEIG e FAr

1. o e

2, B

3, G+

4, GeAm
Options :
42558915132. 1
42558915133.2

42558915134.3
42558915135. 4



Question Number : 70 Question Id : 4255893897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
I (€ 40T @Y | Rgree STt o, (519 IC I€ T T, e Y’

*FEG e T
M EEIC]

2, B

3, @49

4, G
Options :
42558915132. 1
42558915133.2

42558915134.3
42558915135. 4

Question Number : 71 Question Id : 4255893898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T T @IET TRmE Rl A0 <19 A FE (oIERE 9@ 92 78 faear B (@ afvdics
q5S A0 6L CLE ACR?

1, ACIE
2,9 %1\5
3, WEHE

4, 4He
Options :
42558915136. 1
42558915137. 2
42558915138. 3
42558915139. 4

Question Number : 71 Question Id : 4255893898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T T @IIET SRmE Ao 5039 (19 A FE (IRRE 91 92 732 fqeRar-B @ afdits
A5 ICA AGLE CLmd AECR?

1, oA
2, #eTe
3. 9EE

4, e
Options :
42558915136. 1
42558915137.2
42558915138. 3
42558915139. 4




Question Number : 72 Question Id : 4255893899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS SEIETEd PIeeriea Faeae’ F6E SNAd AP red 2@ G0 @12 MR -
G FE T @2 U I ?

1, (T

2. A

3, (Ao

4, foasq

Options :

42558915140. 1
42558915141.2
42558915142.3
42558915143. 4

Question Number : 72 Question Id : 4255893899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS SEIETEd PIeeriea Faeae’ F6E SNAd AP red 2@ G0 @12 MR -
G FE T @2 U I ?

1, (T

2, Ara

3, (Ao F

4, Tomad
Options :
42558915140. 1
42558915141.2
42558915142. 3
42558915143. 4

Question Number : 73 Question Id : 4255893900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T I 4 A G AR @ FIBIE G @G SANGT AR 71 OB B EEma 74 i #A1fow
fotee 1" — faee] SONIET T[] 760E 92 e a9 ?

1, 3 Tl

2. 37 feufes

3, o7 Teufaa

4, QAT 97 oI

Options :

42558915144. 1
42558915145.2
42558915146. 3
42558915147. 4




Question Number : 73 Question Id : 4255893900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T I 4 AE G AR @ FOIE G G SAGT AR 71 O3 B @Ema 79 e #Afo
frtes | — e SEbIET T/ 760F 92 e a9 ?

1, 3 Tl

2. 37 feufes

3, o7 foufaa

4, GiF g7 fodlfae

Options :

42558915144. 1
42558915145. 2
42558915146. 3
42558915147. 4

Question Number : 74 Question Id : 4255893901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T BT AT UG T DY WE FO (IS GrFas el 2AE ?
1. Wl @rere
2, qve e
3. @TeH @rer

4, T e
Options :
42558915148. 1
42558915149.2
42558915150. 3
42558915151. 4

Question Number : 74 Question Id : 4255893901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T BT AT UG T DY WE FO (IS GrFas el 2AE ?
1. W™ ey
2, A* @rere
3, (IS (G

4, Fesi e
Options :
42558915148. 1
42558915149.2
42558915150. 3
42558915151. 4




Question Number : 75 Question Id : 4255893902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘9% AT TTHAEN, (F GAWE Jeve GF AN ARG IT GF00 G B WA A0 - G
TER 7 (I ACFT TR S?

1, Tag Tl

2. ST *FH

3, QIRATY AICAE S

4, GraEe

Options :

42558915152. 1
42558915153. 2
42558915154. 3
42558915155. 4

Question Number : 75 Question Id : 4255893902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘G AT SLFAT, (F AW D& S G AW AIAees 9C GHol Gl 20 W 920 - G’
THE I (1 CHe AST0?

1, Ted fefes

2. @I 2F5e

3, QR AT SR

4, FraEe
Options :
42558915152. 1
42558915153.2
42558915154. 3
42558915155. 4

Question Number : 76 Question Id : 4255893903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W THCE AV E GFp AR 2re AT o, 9wE [, IeEd e s A d e
20S A 1 - IS N GG (1 2kFT a7

1, ¥R TEES - JEEEE TS

2. FGSIE 913 et orFf

3, WEIB- A

4, Oqobl
Options :
42558915156. 1
42558915157. 2
42558915158. 3
42558915159. 4



Question Number : 76 Question Id : 4255893903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W THCE AV E GFp AR 2re AT o, 9wE [, IeEd e s A d e
20S A 1 - IS N GG (1 2kFT a7

1, I EETS - FEE e TS

2, AL I BeTS o

3, WEIB- A

4, G[doby
Options :
42558915156. 1
42558915157. 2
42558915158. 3
42558915159. 4

Question Number : 77 Question Id : 4255893904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o~ =

Tqdrer R Yoo AT, YA (A=Y weae Hiowl aifen 239 " - et w47
1. (Tg=Tom 1%

2, AICT*EST a

3, [gass A

4, IDETFIE e
Options :

42558915160. 1
42558915161.2
42558915162. 3
42558915163. 4

Question Number : 77 Question Id : 4255893904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o~ =

Tqdrer R Yoo AT, YA (A=Y weae Hiowl aifen 239 " - et w47
1. (Tg=Tom 1%

2, AICT*EST a

3, fagags wim

4, AHTTUE e
Options :

42558915160. 1
42558915161.2
42558915162. 3
42558915163. 4




Question Number : 78 Question Id : 4255893905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘9% HASCE T AR A 2 e - Tgfels @ G AT (I qeA (A (S
1, e 54
2, SBA o1
3, W A5

4, WS ToA1
Options :
42558915164. 1
42558915165.2
42558915166. 3
42558915167. 4

Question Number : 78 Question Id : 4255893905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- =

‘g% BB FO AR A =T *T - Tghelt AWE GG ATIA (I SN (AT (TS
1, AL 7o
2, BN o1
3, < el

4, W Ao
Options :
42558915164. 1
42558915165. 2
42558915166. 3
42558915167. 4

Question Number : 79 Question Id : 4255893906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HGCPA ST S o Tl el o ¢ wve fog wge oAy A Bhe’ - S’
PAT @2 THTa facaieieTe -

1, AEFE AT
2, wATE

3, S@bE SGIH
4, Ao LAY

Options :

42558915168. 1
42558915169. 2
42558915170. 3
42558915171. 4




Question Number : 79 Question Id : 4255893906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
BT ST S SR e feslEa o ¢ wwe o wge oAy o Ehe - deete
TP @2 Tt frcaiReETe -

1, AEPE A
2, Tew=E

3, @bE SOIHH
4, AEFH AN

Options :

42558915168. 1
42558915169. 2
42558915170. 3
42558915171. 4

Question Number : 80 Question Id : 4255893907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

G SO THS % AOAE EIATHE 2T FOb 7a S SGHe FE0R 99 09 W A -
GHARTOT FoLF A2 CE b FET —
1. SR
2, Toer
3, NRIoEF
4, oI
Options :
42558915172. 1
42558915173.2

42558915174. 3
42558915175. 4

Question Number : 80 Question Id : 4255893907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

G SR NH S T ASAE G 2 GH FO6! qe *H@ Serwe B I (S AW A/ -
HHATST ToLF G2 Sf@b FET —

1, QR
2, T
3, WEHF

4, Ton
Options :
42558915172. 1
42558915173.2
42558915174. 3
42558915175. 4




Question Number : 81 Question Id : 4255893908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TE 120E TG 2l THHEAE AT (AW & i $409 @9 -
1. A (Arel Ahes Frel = et
2, @l fgg caieE o e
3, *Ife gTa ifar Fivz s
4, 7 AR e FE e
Options :
42558915176. 1
42558915177.2
42558915178. 3
42558915179. 4

Question Number : 81 Question Id : 4255893908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GCE QIR0 TORTICT Sige TNRNEIAE AT (R T [} FA0S @O -
1, #ii¥ (ATel Fles el S HeE

2, aErel iz e <o &

3, *if& ewar *r Pivgg s

4, 7 AR e FE e
Options :

42558915176. 1

42558915177.2

42558915178. 3

42558915179. 4

Question Number : 82 Question Id : 4255893909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘@99 e T, FFEh 4ae HEeE A ey sfaree «afd Fefe T8 @afed a<=e - - e
(T 8TF (AT (STW?

1, w41 8 oj

2, IfEbH

3. 9I%q

4, ACST <Y

Options :

42558915180. 1
42558915181.2
42558915182.3
42558915183. 4




Question Number : 82 Question Id : 4255893909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘@I Pefe iz, P gk FiEeE A fid shes goft Frefe s @ we - - el
(T & (AT (977

1, S € TG
2. qEAv@

3, qIEq

4, Afacera oy

Options :

42558915180. 1
42558915181. 2
42558915182. 3
42558915183. 4

Question Number : 83 Question Id : 4255893910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT ‘epigram™-Ga AL G AN AT (I eI ?

1. feargrem

2, feeree

3, GYES G¥EH|

4, qoF
Options :
42558915184. 1
42558915185. 2
42558915186. 3
42558915187. 4

Question Number : 83 Question Id : 4255893910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT ‘epigram™-Ga AL G AN AT (I eI ?

1. feargrem

2, feeree

3, 9EES g=ieAl

4, WF

Options :

42558915184. 1
42558915185.2
42558915186. 3
42558915187. 4



Question Number : 84 Question Id : 4255893911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG GFoAT (TG BT A0S SR AT FqOls T (FFLA?
1, ACSTEY G

2, A5 E T

3. SEES AT
4, (fEoere g
Options :
42558915188. 1
42558915189. 2

42558915190. 3
42558915191. 4

Question Number : 84 Question Id : 4255893911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AGF GFM (TG T A0S SEE N Fois e @2
1, ACTEY WG

2, STAI4EE (T

3, YL YL
4, (e TgamE

Options :

42558915188. 1
42558915189.2
42558915190. 3
42558915191. 4

Question Number : 85 Question Id : 4255893912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FEf el o St @fere ors w4 7197
1. 36
2, @l
3, 86
4, &%

Options :

42558915192. 1
42558915193.2
42558915194. 3
42558915195. 4



Question Number : 85 Question Id : 4255893912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FEf el o St @fere ors w4 7197
1. 36
2, @l
3, 86
4, &%

Options :

42558915192 1
42558915193.2
42558915194. 3
42558915195. 4

Question Number : 86 Question Id : 4255893913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TN (2 94 SMOQEE, NS GLEH A |
Gl Oedl (9412 Bl SIAE SIS A0 oid | 1
aft (@17 SEIIET Ee?
1, WEES

2, T

3, W

4, GreAfE

Options :

42558915196. 1
42558915197.2
42558915198. 3
42558915199. 4

Question Number : 86 Question Id : 4255893913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tl (2 o9 WSIqHE, P SIS A |
Gl Sodl (9412 B SIAE Sie A0 oid | 1
afs (T ST gEe?
1, EE S

2, Taeie

3, feaw

4, Ghe*rEfe

Options :

42558915196. 1
42558915197. 2
42558915198. 3
42558915199. 4




Question Number : 87 Question Id : 4255893914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WIEoH ©F (TR &3 (T +FrEm Ieed 7o Aew e 7
1. G2y w4

2, fasrn sfarsmm

3. 599 ~ffarmm

4, B *farsEm

Options :

42558915200. 1
42558915201.2
42558915202. 3
42558915203. 4

Question Number : 87 Question Id : 4255893914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SfePBhe ©fF SO &ted (1 *fqoem Jireed =% Hewl Mraes 7
1, dw #ffacrecn

2, Teom =ffareem

3, 59 ffarmEm

4, B *farsEm

Options :

42558915200. 1
42558915201. 2
42558915202. 3
42558915203. 4

Question Number : 88 Question Id : 4255893915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o (T TegEe TG’ SUF AN LFA (6 EE AL FS 7
1 @

2, @2

3, @9

4, @8
Options :
42558915204. 1
42558915205. 2
42558915206. 3
42558915207. 4



Question Number : 88 Question Id : 4255893915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Aehsf (AT oy e’ STHE AT AP (B I e TS 2
L@
2, &3
3, &8

4, @8
Options :
42558915204. 1
42558915205.2
42558915206. 3
42558915207. 4

Question Number : 89 Question Id : 4255893916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ferwg fryam it 9fde 2o -
1, o= raer 9T Tl
2, A9l THErR GRR=el

3, AYGWAS! A FreFaef

4, AT LA &=1EA
Options :
42558915208. 1
42558915209. 2
42558915210. 3
42558915211. 4

Question Number : 89 Question Id : 4255893916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fewg fayam it 9fde 2o -
1, o= raer 9T Tl
2, A9l THErR GRR=el

3, AYGWAS! A FreFaef

4, (A<l AICANCEE &=
Options :
42558915208. 1
42558915209. 2
42558915210. 3
42558915211. 4




Question Number : 90 Question Id : 4255893917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(&5 =JANE TSI T AW 2
1. (7
2, Ol
3, &

4, (1R
Options :
42558915212. 1
42558915213.2
42558915214. 3
42558915215. 4

Question Number : 90 Question Id : 4255893917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(&lis sfarea worm e A S 2
1, (qae
2, o]

3, @i

4, FR
Options :
42558915212. 1
42558915213. 2
42558915214.3
42558915215. 4

Question Number : 91 Question Id : 4255893918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ANFHR S -GF IENAET P TG0 ARG (A 25 ;
A, TR T =mie Hfoe qite freal Hreae

B. TYE S FWH SHOLA I q0R TASE

C. fe@rer =iy o sifofer St (o =1 ¢ 9o

D, w4 Il (7 (Aedrs S < =

E S | 1% o oo caee

s e faegelsm T Aos oo == ;

1.B,C,D,AE

2B8,D,CAE
3.E, B D AC

4 E DB AC
Options :
42558915216. 1
42558915217. 2
42558915218. 3
42558915219. 4



Question Number : 91 Question Id : 4255893918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F[FAR S -7 ICANAET FAPD TF1e AQTBONI (T 2 |
A, TR fera *mie Ao dite el Frama
B, T SItd T SO A 02 AL
C, fermicer @ifer & BifoE e SH1 1 ¢F 90
D, ©4f I (7 (FeEE offes A i@
E 9 | 1% o9 (o e
o ave faagelem st e o 2=
1. B,C,D, A E

2.B,D,C,AE
3.E, B D AC

4 EDBAC

Options :

42558915216. 1
42558915217. 2
42558915218. 3
42558915219. 4

Question Number : 92 Question Id : 4255893919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Agadaen-g Ak T9S o e oz ofme 97 meal 2=
A, 7ol
B, I€AE
C. 99
D. 4%
E IFFHE
fos &me fRegefam W Ao T 2
1.B,EC,AD
5. A B.D.EL
3 A DB EC

4 B, EC,D A
Options :
42558915220. 1
42558915221.2
42558915222. 3
42558915223. 4



Question Number : 92 Question Id : 4255893919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AFadqed-g gk 9T WA <07 g S8 W (A ew 2
A. o
B. I
C. T
D. 998
E, 9P
fo eme Aegelm Tt Ao ot 2
1. B,E,C, A D
2. A,B,D, EC
3, A, D,BEC

4, B, E,C,D A
Options :
42558915220. 1
42558915221.2
42558915222. 3
42558915223. 4

Question Number : 93 Question Id : 4255893920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fots SR SO FAF0 Tyfe STEsi| (el 7 |
A. T =1 (= W, st 91 2w s

B. T (S WIS e WU &aa

C. Sreife Waaifer eg -

D, 91 <lea F2 A1+ T @

E. 99 e o e 1508 w4

i ave fAegefem wug A ol 2= ;

1. D,B,EC,A

2. A, B,C, D, E

3,B,D,C,AE

4 D,C B, AE

Options :

42558915224. 1
42558915225.2
42558915226. 3
42558915227. 4



Question Number : 93 Question Id : 4255893920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
15 FHETE SUBIEE FAF0 TF1© AT (RSH T ;
A, o 71 @i W, swr A 7 o
B, TI¥ (S SO Gre QU FId
C. srolfye =@l Seq T3
D, 3@ I3 F2 71 (T4l S@E
E. 99% GfE w4 e qisca war
o eve egeee Ty 7e o =
. 1 BB A
8 A B, DB
3, B,D,C, A E

4D,C B, AE

Options :

42558915224. 1
42558915225. 2
42558915226. 3
42558915227. 4

Question Number : 94 Question Id : 4255893921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘YA o FCE TG TS WBSIE (TG T
A, (TZ 4IC JABME! S0 40

B, FCIRG A€1 @« FeaE vl

C. 77 99 Jfeted aue 99 S o (e
D. I% i Jifeterd @i i e
E. &4 O[T (57 A FCE IR S
fies e faegefam s Aoe o=t 2
1. E, A B CD

2.D,C E B, A

3, B,C,E A,D

4 B, E A CD
Options :
42558915228. 1
42558915229.2
42558915230. 3
42558915231. 4



Question Number : 94 Question Id : 4255893921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘CIGEAAFT Tor FISE R0 TFe WSS M 2
A. (T8 41T G @6 4!

B, TEEG 4] @ HgaE el

C. T 97 Afitera e @9 THw 9 (s

D, ¥ @ <ifeivend @ (ficad e

E &9 OF (5 % I FRE TS

for awe faagelam Swg 7w ol 2

L EABECD

2.D,C, E B, A

3B, C.E A D

4 B, E A CD
Options :
42558915228. 1
42558915229. 2
42558915230. 3
42558915231. 4

Question Number : 95 Question Id : 4255893922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
GO #Ai5E -9 FE Tgfe ARTEOE Med 2
A, =feare aiferd <29 9@ wigg Ae
B. e AR FEE DI (O] @S ©OeT, AT THAE Sl MLl WA 0 5T T4t #rie
C. @ W Yfea @1, OIS (I o
D, T e 9ftre be e be FF Al ([05 (9F | <2d F o o
E. TN Sfoens 0 2te o M see 9@ @roEs fbm 9w
s ewe faagelem wug e ouf 2= .
1. B, E, A, C,D

2CEEAD
3,EC, B, DA

4, A, B, D, EC
Options :
42558915232. 1
42558915233.2
42558915234. 3
42558915235. 4



Question Number : 95 Question Id : 4255893922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
O #5197 FEFO TG0 ATTEOE (T T
A, *f*RIee AferE «29 I¢ v e AE
B. SIS S FALEICT OIS (OIe (A0 ©Fe, (A SHAL SCng(d It MM’ 0 [DeFia Fa0e a19e
C. @ v Y108 @&, ars (eIee ioraif
D, T fTe 9 Be B2 Be F( ACH! (TS (F | *12F F #Arel BF
E. (A FHSTE 02 TS & M@ T 9@ Ereres M 3w
o eve egeee Ty 7e o =
1. B,EA,CD

2C,B,E AD
3.ECB, DA

4 A,B,D,EC

Options :

42558915232. 1
42558915233. 2
42558915234. 3
42558915235. 4

Question Number : 96 Question Id : 4255893923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T TAMITE TE0 TGS AT (G 2
A, TS A0S @1, B9 Aoz

B, SIRIC* AW (19 (@ 233 Brole

C. C4T 19 S TEH o 2oz

D, T T GEe 5 5F FALSiE

fats evie egelem T 7w o=t = ;
1. E B, A CD

2.E,AB,D,C

3. A,CD,BE

4 D,B,E A C
Options :
42558915236. 1
42558915237.2
42558915238. 3
42558915239. 4



Question Number : 96 Question Id : 4255893923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T THoE PRS0 TS STEe (w2 ;
A. TS 4S9, §9 VTSR

B. ST AW (19 (a9 237 ZOLoR

C. C4T TS STEmeme q30e0

D, T TE Sq4e b7 5o FArecE

o eme TAogelm W e a2
1. E, B,AC,D

2.E, AB,D,C

3 AG D BB

4. D, B, E A C
Options :
42558915236. 1
42558915237. 2
42558915238. 3
42558915239. 4

Question Number : 97 Question Id : 4255893924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SfL2d A ST PO Tgie SAqIE (ST T

A, T 224 07 i@ FLe O Sy (A A2

B, TR oW (58 339 W 4T Ieq 7T 9F S B T2 A2

C. Qe AR ared gEm IR, 22-93 fofre wim < @& @R e g

D, TIZA0T (SCESTH (FI 9F (20 A1 SIS 27 F5 2o ifmr o gaew A
E. (7 SISl St W A1Ed 010 (ed 916 a6

s e faegelsm T Aos oo == ;

1. B,ED,A,C

2ABDEC
3.C,B,D,AE

4, D, A,B,C, E
Options :
42558915240. 1
42558915241.2
42558915242.3
42558915243. 4



Question Number : 97 Question Id : 4255893924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘o2 Sf5Er T FEF0 TFie TS (e 2 ;

A, TCE B2@ ST @S FUE OF PIEA (@0 AL

B. Tl ¢ 229 W4 avee Jeq FF o diad F FR 712

C. e faiE ared e IF, ©2-99 fofore s €fesr & @ wm giea?

D, TIEAI0! (SETE (F1F 49F (2 &l FE 727 FF #rom 4T o gz afmifies

E. (7 SO &oe Sl A1E 010 (e o6 a0

o eve egeee Ty 7e o =

1.B,E D, A,C

22ABDEC
3.C,B,D,AE

4.D,AB,CE

Options :

42558915240. 1
42558915241.2
42558915242. 3
42558915243. 4

Question Number : 98 Question Id : 4255893925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forafsifs” o (e Twat Tgfe TimeeE @ew =
A, TE0T &L 7 ©CF OLH YO & Ao
B. S &<

C. T4 g (Srm 1§ W e @ =
D, EIERE “er Io=106! 9=

E. S T GRS 76, ATAE ©F
fos &me fRegefam W Ao T 2
1. A, B,C, E, D

2.D,E A C,B

3, A, CE B D

4 D,E A B C
Options :
42558915244. 1
42558915245.2
42558915246. 3
42558915247. 4



Question Number : 98 Question Id : 4255893925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T’ o (At FEIH e GRTBOE M IH T ;
A. STHON ST ? O O T g A

B, W Siaq

C. ¥4 *g (S 5 T 9e @@= =

D, FFNEAd e o0 qorE

E. S0 $UE SHIE 96, JTUE ©F

faws evie fegrefem s o ot = .

1L ABGED

22D,EACB

3.A,C,E B, D

4, D, E A B C
Options :
42558915244. 1
42558915245. 2
42558915246. 3
42558915247. 4

Question Number : 99 Question Id : 4255893926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
foCs =2ITAa W 75 (UF FEF0 OFe AESIT (Teql 2 |
A, T, €
B, @&EMWI (ELF TIEIGR
C. 9l ¢r4rg ¢5e?

D, Ta%et (Ba SRR

E. 2 (o1 So0=, (AT (ATeT?

s ewe faagelem wug e ouf 2= .
1.C,D, B, A E

2B, ACED
3,A,CEB,D

4, D,C E B, A
Options :
42558915248. 1
42558915249. 2
42558915250. 3
42558915251. 4



Question Number : 99 Question Id : 4255893926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fIts *RIa T % (T FEF0 TG0 HEOI (AT T
A, S, 8 ST

B, 9=Wl (&l D=

C, =T G (oITaT?

D, far=T (B =it

E. TR (1 S0, (FIAR (T2

s eve fAegelea g Ao T’ 2=
1€, DB A, E

2.8, A,C,E, D

3. A, C EB,D

4 D,C E B, A

Options :

42558915248. 1
42558915249. 2
42558915250. 3
42558915251. 4

Question Number : 100 Question Id : 4255893927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TYE TE (AT FLIHO TGe AGESLI (G T ;
A, T F© G (5T! S (B (€I 8
B. ©F 94
C. O @wg Te 49
D, =iy wifg o7 o
E, 9% @7 2'® 4@& ™
fies e faegefam s Aoe o=t 2
LB D.C.F k&
3. A BDGE
3,C,D, B, AE

4 B,C D, AE
Options :
42558915252. 1
42558915253.2
42558915254. 3
42558915255. 4



Question Number : 100 Question Id : 4255893927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

STE TE (ALT FIHO TGe WS (AT T ;
A, 27 T© @ (BT O (Bl @F @

B. ©% ¥

C. O «IWIe g 49

D, @iy =ifg =7 &

E @3 €5 S 4227

fas eve feegefem st Foe @l 2 ;

1. B,D,C, E A

2,A,B,D,C,E

3C,D, B AE

4B, C D, AE
Options :
42558915252. 1
42558915253. 2
42558915254. 3
42558915255. 4

Question Number : 101 Question Id : 4255893928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AGRT qoF (AT FEF0 TGS FAHEOIE TS 2

A. G35 Tl a2, @ WE G Tl - ST FCHTS SAANF

B, 547 W< o Ml ™ — (@1 (A A5 5= Oy, f6g W@ o a6 S R w0 e
C. 7 (AT g @it w=Ee ks e At

D, S Aad & w7 6! Tolltae To roe el Sfoe W

E, T2e w@tag W @S0 wEE Wi @, e e ww

e eme faegelem Tt AT ot == ;

1. E,. G, D, B A

2,.C,E,B,DA
3N EEB.T)

4, D, A B, CE
Options :
42558915256. 1
42558915257.2
42558915258. 3
42558915259. 4



Question Number : 101 Question Id : 4255893928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AGRT TOF (AT FES0 Tqie FARTEOE (AT 2 ¢

A, @35 TaT °F 2R, @ TF GF Tl — S FAMTS SHFE
B, 5qe W< fore Mol — (o= (rel AR 51<IE &; F6g WIegd oI qe0 S 3R wed e
C. 919 (R [erta | weEe AR e sfifie

D, FfHEa & w5 4F0! TARE T Frea w47 Bfps 7w

£, 7207 wEme i O g WE @, et AR 9w

o awe egeler Ty 7w o == ;

1. E,CD,B,A

2, C,E, B, D, A

3, A, EC,B,D

4.D,AB,GE

Options :

42558915256. 1
42558915257. 2
42558915258. 3
42558915259. 4

Question Number : 102 Question Id : 4255893929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AFETAA (A9 WA QR (AT Al S (e =+
A, @2 BABCE o Qi A *© o
B, O 71 wRE A
C. TSl TIEE T
D. ¥ v &, =@ S e
E, ST 11 *@a, St #7s *fe2m
fies e faegefam s Aoe o=t 2
1. C,D, A EB
2.B,C,E, A D
3, C,B, A DE

4. D,B,EC,A
Options :
42558915260. 1
42558915261. 2
42558915262. 3
42558915263. 4



Question Number : 102 Question Id : 4255893929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AFETAE (A9 S Qe (AT el dfeeei (rew 2 ;
A, 9% BABE TS LR A *© W©

B. §f¥ 71 "R AE

C. FoTel T2 T

D, foma g &, =@ Ffaie &ie

E, @3 i<l ==&, ©ive ofqs e

for awe faagelam Swg 7w ol 2

1, C,D,AEB

2. B,C,E A,D

3,C,B, A D E

4 D,B,ECA
Options :
42558915260. 1
42558915261.2
42558915262. 3
42558915263. 4

Question Number : 103 Question Id : 4255893930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@ ST e SeEE g9F (AT TS STEeT (qeT 29
A, TRmoT e 2 20 Mgy

B. QI i 7wt a2 vefee - o (rarere Yiele wifasfaba

C, g ©rF e AFE AET

D, (IS GiWe, ©ite WY 44l 2T =2 (Sl

E, g 70 s 2iR @oE (T

e eme faegelem Tt AT ot == ;

1. C,B,E AD

2. A, C,EB,D

i T

4 E ADBC

Options :

42558915264. 1
42558915265.2
42558915266. 3
42558915267. 4



Question Number : 103 Question Id : 4255893930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SRAEAY FFEE T T ST (@A I ARAEed (e 29
A, TEDsE (omer s 2ee ey

B, G g e focai2 beiee — faie qae eafem wfanfabe

C. 75 ©/F Sr9E AeFE AT FCa

D, GISIFe W, TS ¥Y 44 AP W2 (o

E. i 7erd oW 2R (w0 T

e eme fAegelem T Aoe gt = ;

1. C,B, E A,D

2,A,CLE B, D
3D, A,E B, C

4 EADEBEC

Options :

42558915264. 1
42558915265.2
42558915266. 3
42558915267. 4

Question Number : 104 Question Id : 4255893931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TEAEr TOF (AT FE6 TS ARSI (97 2

A, @wE G2 o Jferate afe e o 1w =, o smae 7R
B, @4 dT&ld WMoid2 deryg V[Tﬁf L TACRET

C. 9 74 4€ (va?

D. (& IEQ? WA IG (HIF (AR

E 2@ T F @72 37 T, (6 °F =W

fies e faegefam s Aoe o=t 2

1. A, D,B,C,E

2.C,B, E A D

3C,E B, DA

4 D,EC, A B
Options :
42558915268. 1
42558915269. 2
42558915270. 3
42558915271. 4



Question Number : 104 Question Id : 4255893931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TS FOF (A FCAPH TFhe GRTEe (197 29 ;
A, I @2 of etz =g @it el o 79, s simae 72

B. 9F 954 «ifer@s qery Wik F90e 2
C. 9Fp 74 440 (M9?

D, (& FEQ? WA I@ (4 (FAR

E 2@ 7l 91 (@7 47 T, (A6 OF TR
fers ema feaselaa g Ae ot 20 .
1, A,D,B,C, E

2,C,B, E,AD

3,C,E B,D, A

4 D,ECAB
Options :
42558915268. 1
42558915269. 2
42558915270. 3
42558915271. 4

Question Number : 105 Question Id : 4255893932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ARG S5 T AT PO (AT FAPO S o127 (TG 29
A, e fafa Seerss (72 arieern!

B, & @ A4 7 F14T

C. WA & AT 7 A7

D, STAISH A4 (7R (FIegred

E, dW(& ©F S-54 @eel
o eve Taegeleg g 7o oult o
1.C,B, A, ED

2B,CDEA
3.C,E,B,D, A

4, E, B, C,D, A
Options :
42558915272. 1
42558915273.2
42558915274. 3
42558915275. 4



Question Number : 105 Question Id : 4255893932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AN S5 FIEHR AF FIAOE (AT FEFO AT o34 (19T 2
A, TS fofeg s (A2 RS
B, “ICH G AT =1 2T
C. W07 (7 A1 = AGETAH
D, IS AF (2 (@egros
E, Wi OfF S-T40 @e
o ave fagelem wua Ao ol =
1. €, B, A ED
3OREDE A
3, C,E, B, D, A

4 EBCDA

Options :

42558915272. 1
42558915273. 2
42558915274. 3
42558915275. 4

Question Number : 106 Question Id : 4255893933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e OrAE Fereligs (A% At Tt oY va-awE W€ (enr 2 ¢
A, G4 8 G FEE GAT 2 2IS AP Fh TG

B, (@ 41§ q&I4F Feofe fem +ife o 2 cifer 4rg
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4, B & E Only
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Options :
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Question Number : 112 Question Id : 4255893939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Mandatory : No
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Question Number : 118 Question Id : 4255893945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS LA PITILAT FS (AT FCARO TFo a-owm =g (e 2=
A, EIFETE A AR E T 2w

B. gfeTce e e et sycst A =i

C. 96 08 e 90a w1 fwor =ifsy @i v

D. (& 448 fgdr =e, Qs AR #reid <@

E. 91 e, e e awmeim #wm o3

feree Regelem Sty @4 el vg, 6 Hfes F@-
1. A, C & E Only

2. A, C & D Only

3. A, B &D Only

4. A, D & E Only
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Question Number : 120 Question Id : 4255893947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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1. A, B & D Only
2, A, C & E Only
3. B,D & E Only
4, B, C & D Only

Options :

42558915336. 1
42558915337. 2
42558915338. 3
42558915339. 4

Question Number : 122 Question Id : 4255893949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT THETR (AT A0 TFho o N (1o 2 ;
A, (35 G2 (TS THAIE F9T 9L TEANHEL AgSid fFg @ (Fre)
B, (ifwe =T R 91412 el 60Fe 92 ©Igd & Tl ifaie (zwe)
C. UreRIEd Me q© wies ©©2 Twy Aeeie Flaie (Fami)
D, SEPTI T4 B A O FWEE (9 T 0 0= 24 A (T @)
E. SUFA1 7 T4 (e RIAA g Wool PGS e Ao g FE e (@)
farsa egelE Ty @t 7Ke# vg, ¢t Hiee -
1. B, C & D Only
2. A, B & D Only

3. A, C&EOnly
4, A, B & E Only

Options :

42558915340. 1
42558915341.2
42558915342. 3
42558915343. 4



Question Number : 122 Question Id : 4255893949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AGALT THEDR (A PR Cgho q-oews = (exr 2 ;

A, G T2 (A THATS PA<T KL ASTHAL AGE oy @ (PR

B, Gife] @<= G <1413 et 6e 92 ©i2d o= S ifafey (e
C. TrewRifed e I© wies Tez Tw sfere Sz (qam)

D, S T4+ 0 AF G4 SAWAE (O Ty 0 A 27 A (T @)

E. SU%A1 o S (@A [{qq9 SueE Wil gHeend Jard e farw Mg e (FEi)
e Regela wta @ Rl e, G Hiwe wEr-

1. B, C & D Only

2, A, B & D Only

3, A, C & E Only

4, A, B & E Only

Options :

42558915340. 1
42558915341. 2
42558915342. 3
42558915343. 4

Question Number : 123 Question Id : 4255893950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GELRIEE (B S5-I St e+ (e 2

A, @ TN THATE, TN G2 GEARIGS *W oo w2 BN S@¥e ATE, OF % el |
B, fa*im it <o wems (e 7w g gB8red gl 23, ORE o8 JeEe Y@l SEe |

C. ¥oIiAI& W@R =9 Description of nature,

D, S S 70 o7 AtH AT S WS S 2

E ‘q S@F 2RNE TS ag /e e we @2 Tz 9w - ot gferas gmeiEe Shzae
feva faegefer Wiy @it el wg, Gt fifes sl

1. B,D & E Only

2. A, B & C Only

3.C,D & E Only

4, A, D & E Only
Options :
42558915344. 1
42558915345.2
42558915346. 3
42558915347. 4



Question Number : 123 Question Id : 4255893950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I (O &F-E T S0 Te s (ew 2

A, G T SO, TN 72 GEARIBS *W (oo G2 HESN ARG ATF, ©F T STl |
B, fa*im it <o wems (e 7w g gB8red gl 23, ORE o8 JeEe Y@l SEe |

C. ¥OIAI& W@ 29 Description of nature,

D, I ¢ P IM o7 I AF O TS TG 27 |

E, 'Q %@ Ha T ag FE /S *ee Te @ R 99 0 - aft aferas s Sarmad
5T RegelE q @ e o5, ¢ Hies -

1, B, D & E Only

2. A, B & C Only
3.C,D & E Only

4. A, D & E Only

Options :

42558915344. 1
42558915345. 2
42558915346. 3
42558915347. 4

Question Number : 124 Question Id : 4255893951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
LIS SIS FRATGG FHE FEF0 TG &5 A5 T (Feq 2
A, Ty sfqare Afzemsla ger aee el g e
B, ©0*FF Wierergd U Sodvied g7 FafReE |
C. W95 ST AL %o (NG TA6 THGT o |
D, FREHSTY 3 (OEAE FGF 4D |
E, il Aere! SR - e wree ez |
fosa gl iy @t wwef# v, @t ffee -

1. A & E Only
2. A, C & E Only

3. B,C &D Only
4,C,D & E Only

Options :

42558915348. 1
42558915349. 2
42558915350. 3
42558915351. 4



Question Number : 124 Question Id : 4255893951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
DI SIS FRATSE FHE TS0 NG SF-q&F N0 (Teq 267
A, Ty Sfcare Tfzemsl ger ame SrEesf &g T |
B. ©B*FF Fergd A Al &2 AR |
C. 95 ©(E AL G0 (N6 TA6 THH fqww |
D, FREIEAT I (TTAT FGF DS |
E, *fwitdl Aere! SR - oo S5 o |
ferra g s Wiy @t el v, o iz -

1, A & E Only

2. A, C & E Only
3. B, C & D Only
4.C,D & E Only

Options :

42558915348. 1
42558915349.2
42558915350. 3
42558915351. 4

Question Number : 125 Question Id : 4255893952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks :
51 SRS TEETE R FES0 T w5-uwg g e =4 ;
A, SIBR qECTE WO WG WE, W BAG wAlE Rae S e orNg
B. el qifeamrgiRrRe’ - F1 Qe afeqeres
C. YTIET 2 GFOAT sl sTel
D, QA ] T W (FHoa2 JHF
E FNGREeemE; s I - 92 TO6 6N AL
re g sl g @UnT e w5, @6 e @
1, A &C Only

2. B & D Only
3. C & D Only

4, A & B Only
Options :
42558915352. 1
42558915353.2
42558915354. 3
42558915355. 4



Question Number : 125 Question Id : 4255893952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

BT SIS TEPTAE AT FER TG wF-quG AT (Fewm 77
A, TSR ICTE T WA 7, TG SE6 wE T FEEE SN
B, “AAeqBel difcamrrgrre - F4fS @s afeqqered

C. TG THT HFOTF &l aFwel

D. IAAFTAd @ 9 5 CF6a2 IHF

E FNGREeemE; s I - 92 TO6 6N AL

e Regelm g @A e w5, @6 e s

1, A &C Only

2. B & D Only

3.C & D Only

4, A & B Only
Options :
42558915352. 1
42558915353.2
42558915354.3
42558915355. 4

Question Number : 126 Question Id : 4255893953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&b rared fog e @ (12 Z9 (AT Tgo diFe oa Timd w e 2

List - T List - 1T

A TEasfear | 1 CTamE @ NEEE

B, =5 11, et

C. @rsraey 111, Copirst

D, &N v, ¢ e

Toy wlfeee Wy AN 94 3@ e dve Haare B Tog o
1. A-I, B-1, C-1V, D-II
2. A, B-T1, CIV, D-I
3, A-TV, B-IIL, C-T, D-I
4, A-IV, B-IIT, C-1, D-I
Options :
42558915356. 1
42558915357.2

42558915358. 3
42558915359. 4



Question Number : 126 Question Id : 4255893953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

15T SrTed fog G ¢ (1R ZH (A0S Sge AFe O T Tl 2

List - 1 List - 1T

A TEaefsar | 1 CTawEE @ NEEE

B, =5 11, et

C. drsrwey 111, Zopirst

D. & IV, % e

Toy ©fFeE Wy ANET 99 T e dve Aase T et =
1. A-TH, B-1, C-1v, D-II
2, A-IN, B-I, C-IV, D-I
3. A-IV, B-MII, C-T, D-1
4, A-TV, B-I11, C-1, D-TI

Options :

42558915356. 1

42558915357.2

42558915358. 3
42558915359. 4



Question Number : 127 Question Id : 4255893954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
NS (T FIR0 °F ¢ O ALEHE FRF0 A09F 7 Trad 4T 2 ¢

List - T List - I
A, W 7 fqog o gfq 7 =f=wee I it
B, O 7 (A2 TOQ 7 WL I, AEA
C. S = (off &F S e m,  eEwwal
D. ¥ (72 faea s v, S

Toy SiEEE W AN 9 9 s gve Aaate e egt o
A-1, B-I1I, C-1V, D-II
A-1, B-III, C-1I, D-1V
A-TI, B-I, C-TV, D-TII
4, AT, B-I, C-TI, D-TIV
Options :
42558915360. 1
42558915361.2
42558915362. 3
42558915363. 4

oo



Question Number : 127 Question Id : 4255893954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
NS (T FIR0 °F ¢ O ALEHE FRF0 A09F 7 Trad 4T 2 ¢

List - T List - I
A, W 7 fqog o gfq 7 =f=wee I it
B, O 7 (A2 TOQ 7 WL I, AEA
C. S = (off &F S e m,  eEwwal
D. ¥ (72 faea s v, S

Toy SiEEE W AN 9 9 s gve Aaate e egt o
A-1, B-I1I, C-1V, D-II
A-1, B-III, C-1I, D-1V
A-TI, B-I, C-TV, D-TII
4, AT, B-I, C-TI, D-TIV
Options :
42558915360. 1
42558915361.2
42558915362. 3
42558915363. 4

oo



Question Number : 128 Question Id : 4255893955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e viifes Sraa® *me 497 a9 @ FET *MAR e 29

List - 1 List - 11
A, I A e e I =
B. 2 2 afqwE 9@ frame (onaE @i 1. 88
C. 91 4 4+ =ipea &g 1L, 3
D, ©F ¥ @2 oK 94 T2 v,

Toy ©iferd W AN K94 $67 06 @ne Agae 5 Aag’ o
1. A-1, B-II, C-1V, D-III

2. A-II, B-1, C-1v, D-11I

3. A-IN, B-1v, C-I, D-II

4,  A-II, B-111, C-I, D-IV
Options :

42558915364. 1
42558915365.2
42558915366. 3
42558915367. 4



Question Number : 128 Question Id : 4255893955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e viifes Sraa® *me 497 a9 @ FET *MAR e 29

List - 1 List - 11
A, I A e e I =
B. 2 2 afqwE 9@ frame (onaE @i 1. 88
C. 91 4 4+ =ipea &g 1L, 3
D, ©F ¥ @2 oK 94 T2 v,

Toy ©iferd W AN K94 $67 06 @ne Agae 5 Aag’ o
1. A-1, B-II, C-1V, D-III

2. A-II, B-1, C-1v, D-11I

3. A-IN, B-1v, C-I, D-II

4,  A-II, B-111, C-I, D-IV
Options :

42558915364. 1
42558915365.2
42558915366. 3
42558915367. 4



Question Number : 129 Question Id : 4255893956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(VY P FCIF0 A2 8 FLHE Al T (Req =

List - T List - 11
A, <ishe wEAE, /62 Aiefe, @ f=fe e drer vaeel I Y 7
B. et & [fy, 7fim, ¢ e @it/ Fiwcs? II. worg 79
C. & afve ofe/ areewem-om @ arFs @7 m. e 7
D, T ewm wo ofy, 92 w41 39| v, AN 7

Ton of@E Wy AW faae s s eve A e gl 2=
1. A-II, B-111, C-1V, D-1
2. A-TI, B-1V, C-TI, D-I
3. A-1, B-IV, C-1I, D-TI
4, A-IV, B-III, C-1, D-II

Options :

42558915368. 1
42558915369. 2
42558915370. 3
42558915371. 4



Question Number : 129 Question Id : 4255893956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(VY P FCIF0 A2 8 FLHE Al T (Req =

List - T List - 11
A, <ishe wEAE, /62 Aiefe, @ f=fe e drer vaeel I Y 7
B. et & [fy, 7fim, ¢ e @it/ Fiwcs? II. worg 79
C. & afve ofe/ areewem-om @ arFs @7 m. e 7
D, T ewm wo ofy, 92 w41 39| v, AN 7

Ton of@E Wy AW faae s s eve A e gl 2=
1. A-II, B-111, C-1V, D-1
2. A-TI, B-1V, C-TI, D-I
3. A-1, B-IV, C-1I, D-TI
4, A-IV, B-III, C-1, D-II

Options :

42558915368. 1
42558915369. 2
42558915370. 3
42558915371. 4



Question Number : 130 Question Id : 4255893957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y Saeld FEF6 FaeE I @ FETY vae (e o7 -

List - 1 List - 11
A, e we o 35 me wrears I fafemra
B. 0 CIACA 2 ©fe0] 11, ATRT S0z =7
C. T &, ©F ATH & m. €9
D. TEE IS T, ATTT T, I3 1% v,  esfe

Toy Sifiae W AN 94T S 0o ave AaFte 6% e 2
1. A-II, B-II, C-IV, D-I
2, A-II, B-1, C-IV, D-1I
3, A, B-1V, C-II, D-I
4, A-IV, B-III, C-1, D-TI

Options :

42558915372. 1
42558915373. 2
42558915374. 3
42558915375. 4



Question Number : 130 Question Id : 4255893957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y Saeld FEF6 FaeE I @ FETY vae (e o7 -

List - 1 List - 11
A, e we o 35 me wrears I fafemra
B. 0 CIACA 2 ©fe0] 11, ATRT S0z =7
C. T &, ©F ATH & m. €9
D. TEE IS T, ATTT T, I3 1% v,  esfe

Toy Sifiae W AN 94T S 0o ave AaFte 6% e 2
1. A-II, B-II, C-IV, D-I
2, A-II, B-1, C-IV, D-1I
3, A, B-1V, C-II, D-I
4, A-IV, B-III, C-1, D-TI

Options :

42558915372. 1
42558915373. 2
42558915374. 3
42558915375. 4



Question Number : 131 Question Id : 4255893958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“S[GFRICDT 2MOF (AT PTG Tl € FAFC T N (RET 2
List - 1 List - TI
A TE I famgaiforat
B. W& 1. [CEICIED)
C. (Way I, o
D, e v,

Toy SiEEE W AN 9 9 s gve Aaate e et o
A-1, B-11I, C-TI, D-IV
A-TI, B-I1I, CIV, D-I
A-1, B-11, C-IV, D-III
4, A-IV, B-1, C-II, D-II
Options :
42558915376. 1
42558915377.2
42558915378. 3
42558915379. 4

oo



Question Number : 131 Question Id : 4255893958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“S[GFRICDT 2MOF (AT PTG Tl € FAFC T N (RET 2
List - 1 List - TI
A TE I famgaiforat
B. W& 1. [CEICIED)
C. (Way I, o
D, e v,

Toy SiEEE W AN 9 9 s gve Aaate e et o
A-1, B-11I, C-TI, D-IV
A-TI, B-I1I, CIV, D-I
A-1, B-11, C-IV, D-III
4, A-IV, B-1, C-II, D-II
Options :
42558915376. 1
42558915377.2
42558915378. 3
42558915379. 4

oo



Question Number : 132 Question Id : 4255893959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

%7 (RBF (AT g e ¢ AR slaag v (e ==

List - 1 List - 11
A, 7Y ed 98 @9 A fagafes I NE ISR Gl
B. BT W2 QI 7% (FT Y2CS A2 IL. 3 T SFA
€, €39 I F@ m, o
D. W AR Terad AN v, A

Toy ©fFaE Wy ANGT U 9@ e ave waEe T Tt o=
A-1, B-T1, C-TV, D-III
A-TI, B-I, C-11, D-1V
A-1V, B-11, C-1, D-II
4, A, B-II, CAV, D-I
Options :
42558915380. 1
42558915381.2
42558915382. 3
42558915383. 4

oo



Question Number : 132 Question Id : 4255893959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

%7 (RBF (AT g e ¢ AR slaag v (e ==

List - 1 List - 11
A, 7Y ed 98 @9 A fagafes I NE ISR Gl
B. BT W2 QI 7% (FT Y2CS A2 IL. 3 T SFA
€, €39 I F@ m, o
D. W AR Terad AN v, A

Toy ©fFaE Wy ANGT U 9@ e ave waEe T Tt o=
A-1, B-T1, C-TV, D-III
A-TI, B-I, C-11, D-1V
A-1V, B-11, C-1, D-II
4, A, B-II, CAV, D-I
Options :
42558915380. 1
42558915381.2
42558915382. 3
42558915383. 4

oo



Question Number : 133 Question Id : 4255893960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
17 I (T TR0 A2 @ ATEE AFeg W (ReW 2

List - 1 List - 11
A 4% BR 5 9T Eve I Bics ERECil

B, Oy &\, ST FTACE SN A& #Aeg I w3
c. fofq 797 (¥ (otares fe = - T o

D. 8 (oima e =4ita @9 Afze =i v, wAeTE T

Toy ©fFEE Wy ANST U 9@ e ave waae T Tt =
A-T1, B-1, C-TMI, D-TV
A-1, B-II, C-11, D-1V
A-1V, B-11, C-1, D-II
4, A, B-II, CAV, D-I
Options :
42558915384. 1
42558915385. 2
42558915386. 3
42558915387. 4

oo



Question Number : 133 Question Id : 4255893960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
17 I (T TR0 A2 @ ATEE AFeg W (ReW 2

List - 1 List - 11
A 4% BR 5 9T Eve I Bics ERECil

B, Oy &\, ST FTACE SN A& #Aeg I w3
c. fofq 797 (¥ (otares fe = - T o

D. 8 (oima e =4ita @9 Afze =i v, wAeTE T

Toy ©fFEE Wy ANST U 9@ e ave waae T Tt =
A-T1, B-1, C-TMI, D-TV
A-1, B-II, C-11, D-1V
A-1V, B-11, C-1, D-II
4, A, B-II, CAV, D-I
Options :
42558915384. 1
42558915385. 2
42558915386. 3
42558915387. 4

oo



Question Number : 134 Question Id : 4255893961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3ifs 2foam (ATF S g 932 ©wa AF AdEE Fie/ ofava (Red ==

List - 1 List - 11
A, *Efe e I, YT AR
B, S<re fufed I, (FET SFE A MlS G
C. e sEel m I HErE FEeE
D, SIEF v, (FigE @e

oy Sifeiae W ANSET 94T S 00 ave AaFoe 59 e =
1. A-IV, B, C-T, D-I
2, A-II, B-1V, C-1, D-I
3, A-II, B-III, C-I, D-1V
4, AT, B-II, C-IV, D-III

Options :

42558915388. 1
42558915389. 2
42558915390. 3
42558915391. 4



Question Number : 134 Question Id : 4255893961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3ifs 2foam (ATF S g 932 ©wa AF AdEE Fie/ ofava (Red ==

List - 1 List - 11
A, *Efe e I, YT AR
B, S<re fufed I, (FET SFE A MlS G
C. e sEel m I HErE FEeE
D, SIEF v, (FigE @e

oy Sifeiae W ANSET 94T S 00 ave AaFoe 59 e =
1. A-IV, B, C-T, D-I
2, A-II, B-1V, C-1, D-I
3, A-II, B-III, C-I, D-1V
4, AT, B-II, C-IV, D-III

Options :

42558915388. 1
42558915389. 2
42558915390. 3
42558915391. 4



Question Number : 135 Question Id : 4255893962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR TOLET ARG Z L OF ALEE 9% 8 R (AT T,

List - T List - I
A, TEwred qf I ger o/ ges v
B. fr<=sra s IL. vgd @%/ fFew g+
C. Peod R m, 9o %/ gey q*
D. FEIaCT o v,  faSm wm/ vgd g

Toy SiEeE Wy AN 9 9@ s gve Aaate e Tegt o
A-TV, B-TI1, C-TI, D-1
A-II, B-1v, C-1, D-TI
A-1I, B-1, C-1V, D-TII
4, A-I, B-1v, C-111, D-TI
Options :
42558915392. 1
42558915393.2
42558915394. 3
42558915395. 4

oo



Question Number : 135 Question Id : 4255893962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR TOLET ARG Z L OF ALEE 9% 8 R (AT T,

List - T List - I
A, TEwred qf I ger o/ ges v
B. fr<=sra s IL. vgd @%/ fFew g+
C. Peod R m, 9o %/ gey q*
D. FEIaCT o v,  faSm wm/ vgd g

Toy SiEeE Wy AN 9 9@ s gve Aaate e Tegt o
A-TV, B-TI1, C-TI, D-1
A-II, B-1v, C-1, D-TI
A-1I, B-1, C-1V, D-TII
4, A-I, B-1v, C-111, D-TI
Options :
42558915392. 1
42558915393.2
42558915394. 3
42558915395. 4

oo



Question Number : 136 Question Id : 4255893963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IMEABLET 9T (ATF T(IF0 VI IR YICH N (MeT 2 ;

List - 1 List - T
A, @S fores 23ce «ifS wer e I, famrefe ¢ Tame
B. ¥AIFHET (2 (MEAT, (F2 FEAFH, (F2 1. GG
TGS, (T2 COME
C. RS, ¥2, Wed AEamEd S (7S M, e
D, vFam e aw gafers aysEe V. e S
ferelz )

Teon siffee W AN e F@ b eve Aawte e Ao 2
1. A-IV, B-III, C-1I, DI
2. A-MI, B-I, C-II, D-IV
3, AL, B-IV, C-I, DTN
4, AL, B-1II, C-IV, D-TI

Options :

42558915396. 1
42558915397.2
42558915398. 3
42558915399. 4



Question Number : 136 Question Id : 4255893963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IMEABLET 9T (ATF T(IF0 VI IR YICH N (MeT 2 ;

List - 1 List - T
A, @S fores 23ce «ifS wer e I, famrefe ¢ Tame
B. ¥AIFHET (2 (MEAT, (F2 FEAFH, (F2 1. GG
TGS, (T2 COME
C. RS, ¥2, Wed AEamEd S (7S M, e
D, vFam e aw gafers aysEe V. e S
ferelz )

Teon siffee W AN e F@ b eve Aawte e Ao 2
1. A-IV, B-III, C-1I, DI
2. A-MI, B-I, C-II, D-IV
3, AL, B-IV, C-I, DTN
4, AL, B-1II, C-IV, D-TI

Options :

42558915396. 1
42558915397.2
42558915398. 3
42558915399. 4



Question Number : 137 Question Id : 4255893964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TGS T SR PO ISy <8 IS HY A 2

List - 1 List - 11

A, SINE T W S R A T I @
@OICEF &4 (ST IF TIF (FT61R L4
20" \Gﬂjm

B, g WE 7o wew oFid, g T e
AR OEd A4 A |

C. (3067 9412 Gl *F=q (950 #pfere - <)
a5 »&fFFe 230e3|

D. Afzrem Ew 1@z 9f© *@red, 94 s
a2 S (7 Tod 227 T0I | Y

oy sifeels W ANEH Gy 9@ e dwe Agere e ey o

1. A-II, B-III, C-IV, D-I
2. A-IV, B-III, C-TI, D-I
3. A-IN, B-I, C-1v, D-TI
4, A-II, B-1, C-TV, D-TII

Options :

42558915400. 1

42558915401. 2

42558915402. 3
42558915403. 4



Question Number : 137 Question Id : 4255893964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TGS T SR PO ISy <8 IS HY A 2

List - 1 List - 11

A, SINE T W S R A T I @
@OICEF &4 (ST IF TIF (FT61R L4
20" \Gﬂjm

B, g WE 7o wew oFid, g T e
AR OEd A4 A |

C. (3067 9412 Gl *F=q (950 #pfere - <)
a5 »&fFFe 230e3|

D. Afzrem Ew 1@z 9f© *@red, 94 s
a2 S (7 Tod 227 T0I | Y

oy sifeels W ANEH Gy 9@ e dwe Agere e ey o

1. A-II, B-III, C-IV, D-I
2. A-IV, B-III, C-TI, D-I
3. A-IN, B-I, C-1v, D-TI
4, A-II, B-1, C-TV, D-TII

Options :

42558915400. 1

42558915401. 2

42558915402. 3
42558915403. 4



Question Number : 138 Question Id : 4255893965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o SEa’ SFee € ©iWe Crizad (el 28

List - 1 List - 11

A, 1% fReadie Fored 2w/ S (et I, ferwretert
Bk

B. ®€® 7 btIR 1R/ e 9 fere e/ G L
@I FKET (@ 7209 B2 (|

C, T4 IrWe, fTom wate *fewd |

11T, oS
D, =Tt JFFET P 94«/ R 5F, 8 s
o8 o ¢ 7ifz a9/ 9e < o8 e
% iR 43

Ty STl W ANHH G4 F6a 406 @ne AL 56 [P o

1. A-I, B-III, C-IV, D-TI
2. A-IV, B-III, C-TI, D-I
3, A-I, B-IV, C-III, D-II
4, A-IIL, B, C-1, D-TV

Options :

42558915404. 1

42558915405. 2

42558915406. 3
42558915407. 4



Question Number : 138 Question Id : 4255893965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o SEa’ SFee € ©iWe Crizad (el 28

List - 1 List - 11

A, 1% fReadie Fored 2w/ S (et I, ferwretert
Bk

B. ®€® 7 btIR 1R/ e 9 fere e/ G L
@I FKET (@ 7209 B2 (|

C, T4 IrWe, fTom wate *fewd |

11T, oS
D, =Tt JFFET P 94«/ R 5F, 8 s
o8 o ¢ 7ifz a9/ 9e < o8 e
% iR 43

Ty STl W ANHH G4 F6a 406 @ne AL 56 [P o

1. A-I, B-III, C-IV, D-TI
2. A-IV, B-III, C-TI, D-I
3, A-I, B-IV, C-III, D-II
4, A-IIL, B, C-1, D-TV

Options :

42558915404. 1

42558915405. 2

42558915406. 3
42558915407. 4



Question Number : 139 Question Id : 4255893966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

for bt fog oo ¢ ot af awe 2 ;

List - 1 List - 11
A. (TG L BTEed (13 9 AR A G (@I @FEE A
ACF =0 |
B, «IeBEEMW II. (FETAT &9 T |
C. aEW I, (FEE SR QAT T |
D, =W v, g T (Em AT TS @

oy ©ifeialg Wy ANHH fqge S s dwe Aaers e Koy 2
1. A-II, B-1, C-M, D-TV

2. A-1m, B-II, C-I, D-IV

3. A-IN, B-1v, C-I, D-II

4,  A-1V, B-1II, C-II, D-1
Options :

42558915408. 1
42558915409. 2
42558915410. 3
42558915411. 4



Question Number : 139 Question Id : 4255893966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

for bt fog oo ¢ ot af awe 2 ;

List - 1 List - 11
A. (TG L BTEed (13 9 AR A G (@I @FEE A
ACF =0 |
B, «IeBEEMW II. (FETAT &9 T |
C. aEW I, (FEE SR QAT T |
D, =W v, g T (Em AT TS @

oy ©ifeialg Wy ANHH fqge S s dwe Aaers e Koy 2
1. A-II, B-1, C-M, D-TV

2. A-1m, B-II, C-I, D-IV

3. A-IN, B-1v, C-I, D-II

4,  A-1V, B-1II, C-II, D-1
Options :

42558915408. 1
42558915409. 2
42558915410. 3
42558915411. 4



Question Number : 140 Question Id : 4255893967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FAPE 5 AT @ e Abe &gd W (I =

List - 1 List - 11
A FEE I, FRICPGF
B. TEGIHE 0. TAFEIELT

C, ©Io® 11, PEEIAET

D, Fus5 IV, oreead

Toy SiEEE W AN 9 90 s gve Aaate e et o
A-TI, B-TI, CIV, D-I
A-TI, B-I1I, CIV, D-I
A-TI, B-1, C-I1I, D-IV
4, AL B-1V, C-I, D-II
Options :
42558915412. 1
42558915413.2
42558915414. 3
42558915415. 4

oo



Question Number : 140 Question Id : 4255893967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAPE 5 AT @ e Abe &gd W (I =

List - 1 List - 1T
A TS I, FANFGF
B. TEGIHE 0. TAFEIELT

C, ©Io® 11, PEEIAET

D, &S5 IV, oreead

Toy SiEEE W AN 9 90 s gve Aaate e et o

A-TI, B-TI, C-1V, D-1
A-T1I, B-III, C-1V, D-1
A-T1, B-1, C-Im, D-TIV
4, A-II, B-1v, C-1I, D-II1
Options :
42558915412. 1
42558915413.2
42558915414. 3
42558915415. 4
Sub-Section Number : 2

Sub-Section Id : 425589161
Question Shuffling Allowed : No

oo



Question Id : 4255893968 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

fatsa et fife g =19 +03 aofe e wrs

FAGIOTAIHE LB (@HZH dooo EPBITHE FRIFMR (74 | &F T e @A AT A Foe &%
<ifey sifexr Fitaee | ©ite A= Sitae 4 G619 Q0 FECS T Biad A AAN FeRAS | T 20¢
JPBICH AT YRS 2 J4d WA G G S |

FHE TERe 149 Jefaoyea 7eaoe 20 @9 83 974 g Qe 389 IPBITH | wFF-~afed Feer o
SOVO T |, T T AHAPIRER T AR 2w cRevia | (o Joole Aol (i se8s AlEE
AR SIRACS A TEHRE A HGT FCA | T2 L T A A GO I FLACET RS T |
A7 SACOE 7 W 2 A Fe RIS 2R | SIRATE “&F A’ 9 P AT 07 |

TR FLFWT = QAICS G TG4 FREb-08Z GtR | (Tef# g% 2= 92 {99 AeEme
g efoer Tee ofasa 2fell @S

FAeF IS AE, Ao afos JEmrE a0 quems | e Fge o @A arg dq @Ee T
AW 20 AT e 1 SR TS @ (assimilate) (S =7 Tomael fo qreamm ©F 5 @ T
GE 0@ et | eld P 9u 9290w | (7 9 (I O SIF FEE (8 925 9 ©F ¢F SiNed 9
o1 q TP &NE SCF SN ©f (T TR 97 0@ (slimination) | *H@ 747 @3 *fe 2@ @die 7
e S TS O A0S T 2N ©UNE A A ¢ gere G ONE MEte A | e At @
iy 2re J& 2|

Sub questions

Question Number : 141 Question Id : 4255893969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JeATACE G0 [oeEg
Y AoF *FEF 92 A
1, AF (nadl

2, Taws® o

3, 7w Yfoe

4, W efee
Options :

42558915416. 1
42558915417. 2
42558915418.3
42558915419. 4

Question Number : 142 Question Id : 4255893970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e foame2 2 e 20e T, - (& I00?
IRCGES
2, ol (oA
3, Al
4, Fiqww

Options :

42558915420. 1
42558915421.2
42558915422. 3



42558915423. 4

Question Number : 143 Question Id : 4255893971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gng e (AF fFg 919 SRS O (rew &
A, T ¢ 7oife O o fNaTe 4 |

B, qieeT ferfeire agaife sihewr e |

C. 921 & (7 &haed A =1

D, AT LT *RET |

E, OI(F “&H A’ 9 Fo Feehe 0 |

faes eve faegelem g Ave ol 2=

1 & B,C.ED

2.B,D,EC,A

3,C,D, B AE

4 D, EC A B
Options :
42558915424. 1
42558915425.2
42558915426. 3
42558915427. 4

Question Number : 144 Question Id : 4255893972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e e M [ we-aeE [WE FEet o2 e @ewr == ;

A, @@ T8 G ATF© FACF 0 elimination,

B. I g &M “UF GHIT*IF ©F (7 F5=LW %l 5, OILF 90T assimilate,
C. TE2d 49 Feilae Y Aeqvoe 28 y389 2B/ |

D, ¥ AT, &l TGP 983 927mT |

E 9T O9F OIS F<q ST a5 T G651 eI |

05 (mewl Taige W0y @R A9l w5 (I BHiwe o9 -

1, C & D Only

2. A, B & E Only
3. C & E Only

4,C,D & E Only
Options :
42558915428. 1
42558915429.2
42558915430. 3
42558915431. 4

Question Number : 145 Question Id : 4255893973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o4WG wyiee (ALF 6 &% @ O AW A (A T

List - 1 List - 11

A, A4EAeE Tfewds’ L yooo IPGITHT FEFE ol

B, EI¥ (ST TEa sy I, 33¢o AT

C. FAGIDTTHY &gy M, 8 FCFE 23
D, Vel TeyeREr 7Ete 27 IV, 5389 FFBITH

Toy SiEeE W AN 4 S0 s eve Aaae e et o
1, A-TI, B-1V, C-I, D-T1I
2. A, B-111, C1v, D-1
3, A-II, B-MI, C-I, D-IV
4, A-TV, B-11I, C-1, D-T1
Options :
42558915432 1
42558915433. 2

42558915434. 3
42558915435. 4



Question Id : 4255893968 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

fatsa et fife g =19 +03 aofe e wrs

FAGIOTAIHE LB (@HZH dooo EPBITHE FRIFMR (74 | &F T e @A AT A Foe &%
<ifey sifexr Fitaee | ©ite A= Sitae 4 G619 Q0 FECS T Biad A AAN FeRAS | T 20¢
JPBICH AT YRS 2 J4d WA G G S |

FHE TERe 149 Jefaoyea 7eaoe 20 @9 83 974 g Qe 389 IPBITH | wFF-~afed Feer o
SOVO T |, T T AHAPIRER T AR 2w cRevia | (o Joole Aol (i se8s AlEE
AR SIRACS A TEHRE A HGT FCA | T2 L T A A GO I FLACET RS T |
A7 SACOE 7 W 2 A Fe RIS 2R | SIRATE “&F A’ 9 P AT 07 |

TR FLFWT = QAICS G TG4 FREb-08Z GtR | (Tef# g% 2= 92 {99 AeEme
g efoer Tee ofasa 2fell @S

FAeF IS AE, Ao afos JEmrE a0 quems | e Fge o @A arg dq @Ee T
AW 20 AT e 1 SR TS @ (assimilate) (S =7 Tomael fo qreamm ©F 5 @ T
GE 0@ et | eld P 9u 9290w | (7 9 (I O SIF FEE (8 925 9 ©F ¢F SiNed 9
o1 q TP &NE SCF SN ©f (T TR 97 0@ (slimination) | *H@ 747 @3 *fe 2@ @die 7
e S TS O A0S T 2N ©UNE A A ¢ gere G ONE MEte A | e At @
iy 2re J& 2|

Sub questions

Question Number : 141 Question Id : 4255893969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JeATACE G0 [oeEg
Y AoF *FEF 92 A
1, AF (nadl

2, Taws® o

3, 7w Yfoe

4, W efee
Options :

42558915416. 1
42558915417. 2
42558915418.3
42558915419. 4

Question Number : 142 Question Id : 4255893970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e foame2 2 e 20e T, - (& I00?
IRCGES
2, ol (oA
3, Al
4, FEF

Options :

42558915420. 1
42558915421.2
42558915422. 3



42558915423. 4

Question Number : 143 Question Id : 4255893971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gng e (AF fFg 919 SRS O (rew &
A, T ¢ 7oife O o fNaTe 4 |

B, qieeT ferfeire agaife sihewr e |

C. 921 & (7 &haed A =1

D, AT LT *RET |

E, OI(F “&H A’ 9 Fo Feehe 0 |

faes eve faegelem g Ave ol 2=

1 & B,C.ED

2.B,D,EC,A

3,C,D, B AE

4 D, EC A B
Options :
42558915424. 1
42558915425.2
42558915426. 3
42558915427. 4

Question Number : 144 Question Id : 4255893972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gme ofmieed e e we-oes fifig swef o fis @enr 21 ;

A, @i T8 G0 ATF© FACF 0 elimination,

B. I g &M “UF GHIT*IF ©F (7 F5=LW %l 5, OILF 90T assimilate,
C. TE2d 49 Feilae Y Aeqvoe 28 y389 2B/ |

D, ¥ AT, &l TGP 983 927mT |

E 9T O9F OIS F<q ST a5 T G651 eI |

05 (mewl Taige W0y @R A9l w5 (I BHiwe o9 -

1, C & D Only

2, A, B&E Only
3. C & E Only

4,C,D & E Only
Options :
42558915428. 1
42558915429.2
42558915430. 3
42558915431. 4

Question Number : 145 Question Id : 4255893973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o4WG wyiee (ALF 6 &% @ O AW A (A T

List - 1 List - 11

A, @A Sfeadye’ L sooo IPBITHT e (7Ll
B, EI¥ (ST TEa sy I, 33¢o PO

C. FAGIGPIIHY gl M, 8% AE *fid2

D, Vel TeyeREr 7Ete 27 v, 3389 PO

Toy SifFe Wy AET [Tae $@ s awe Feace 6 e =
1, A-TI, B-1V, C-I, D-T1I
2. A-I1, B-M1, C1V, D-1
3, AL, B-I, CI, D-IV

4, A-TIV, B-III, C-I, D-TI
Options :
42558915432. 1
42558915433. 2
42558915434. 3
42558915435. 4
Sub-Section Number : 3
Sub-Section Id : 425589162
Question Shuffling Allowed : No



Question Id : 4255893974 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
fosa s e oI #0 90@ eelag Tea wre
T TG-S AT (G FHE @ ATE 0F Gg, g3 AGSA AFelT ewame | @9 3
AR BIA@ FEAA (=LA, -] HeOFMA K774 &bl Austric 91 wiHe Tifed QTN < o@TS @
ITFE Negroid e oifs a7 Ffae, v s fiwmm stz | oEre Wit gorl @l tae sife@t
A (- (AR, Q47 TR G A 2 @ YT FYER § FAF, - FEA
T /WS G FEAE, I9, 97, W NS 2F (RO GG, S € TFIME [pags | Aibie
FCF4T Dryad I HHCAAT, Najad e, SRFT 9 SE0A4T, 99 Nereid I AEMIAAE S FEG (HRS |
(FTE GO (FNFA (T 90, AT, IS, TAT, QF-(FC ¢ @ -Fewe @4, qee @RI AT |
& (REIET O3INE (A 99 < <h® 713 N2 e ‘G- @, 3 Sreres sieener @ (32
G YA AW “TEieIE” Gdfe T - A (FTS (PG AL A SO WA *EE
Afge s T N ), “RIFE-@H” - TOH EE W 229 A, “TALQH” — Tl BN € Eeed 4m
239 699, “@IONELET" - QAR e JWd 99 229 ITE; “DWa-3Fa- @ — 239
forar wirrege-sern didfa Sia «ae S - 3219 @ 220902 $HIC, (A [0S @ =TT [ |

Sub questions

Question Number : 146 Question Id : 4255893975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T #{© 27 127 9l @ THImE [9pae S - @F qEel Fewa?

1, e wifed

2, ©&d TTENT

3, [e_p wifes

4, AmE wmE
Options :

42558915436. 1
42558915437.2
42558915438. 3
42558915439. 4

Question Number : 147 Question Id : 4255893976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
@=iad dlag Fgeg o fwere fze -
1. T et e
2, IFGT Tfeq S
3, e} wifen e
4, fars 7129W I TEalE s

Options :

42558915440. 1
42558915441.2
42558915442. 3
42558915443. 4

Question Number : 148 Question Id : 4255893977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



WG GLRA GEE FEFE (9SG FEHE FITE N (e =

List - 1 List - 11
A, 3T @ I, ECEE
B. (MEie (are 1. gt SF
C. B o m @
D, 54 fa (o V.  GIEr e

Tuy ©ifeae Wy AWe 4 9@ e dve wgare e g o

1, A-IV, B-I, C-T11, D-I1
2, A-II, B-1v, C-11I, D-1
3, A-Im, B-1, C-1V, D-TI
4, A-1, B-IM, C-II, D-IV
Options :
42558915444. 1
42558915445.2

42558915446.3
42558915447. 4

Question Number : 149 Question Id : 4255893978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AWE SELRY (AP IS0 A9 AT O (e 2
A, STOR SHERT W0 22T I |

B. Nereid I ASEA<Ia S4B+ 74 |

C. 234 @M 22CS0R FHIA |

D. TN ¢ FIF AT THA A |

E, 334 gF AqEe T T

fies eme feagefam g Aoe Tl =

1 B A G B D

2.C,D, A EB

3, ECB,AD

4 D, B, E A,C
Options :
42558915448. 1
42558915449.2
42558915450. 3
42558915451. 4

Question Number : 150 Question Id : 4255893979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gwg e MME A ew-aws WEE et ey i @R ==
A, JFERFE IS (=79 A7 qfeq N0 F91 27|

B. 1% SIIvE SR I (AN ST SR |

(O i L B o T B E D o A

D, & S Z o Gied N |

E. A eSEwma 2477 ditl 9igs wifeq |

15 (el feotge Wi @I Feel wg (i Bize o9 -

1. A, B & C Only

2, B,C & D Only

3, A, C&E Only

4,C,D & E Only
Options :
42558915452. 1
42558915453.2
42558915454. 3
42558915455. 4



Question Id : 4255893974 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
fosa s e oI #0 90@ eelag Tea wre
T TG-S AT (G FHE @ ATE 0F Gg, g3 AGSA AFelT ewame | @9 3
AR BIA@ FEAA (=LA, -] HeOFMA K774 &bl Austric 91 wiHe Tifed QTN < o@TS @
IATAFE Negroid fap oifs a7 Ffae, o s fwmm stz | oEre W& gorl @il tae sife@t
T (AR~ (AR @3 Fa< e QeaeTd | e @ T P 8 FEE, [T Tl
T[S G FEAE, 99, 9K, W NS 2F RO GG, S € TFIME [[pags | Aibi
FCF4T Dryad I HHCAAT, Najad e, SRFT 9 SE0A4T, 99 Nereid I AEMIAAE S FEG (HRS |
(FTE GO (FNFA (T 90, AT, IS, TAT, QF-(FC ¢ @ -Fewe @4, qee @RI AT |
& (REIET O3INE (A 99 < <h® 713 N2 e ‘G- @, 3 Sreres sieener @ (32
G YA AW “TEieIE” Gdfe T - A (FTS (PG AL A SO WA *EE
Afge s T N ), “RIFE-@H” - TOH EE W 229 A, “TALQH” — Tl BN € Eeed 4m
239 699, “@IONELET" - QAR e JWd 99 229 ITE; “DWa-3Fa- @ — 239
forRT i rrrege sy Adia i @< “B-e - ¥219 @ 230TR PR, (I 0o ¢ ARITed W |

Sub questions

Question Number : 146 Question Id : 4255893975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T #{© 27 127 9l @ THImE [9pae S - @F qEel Fewa?

1, e wifed

2, ©&d TTENT

3, faRp wifed

4, lam< wrmE
Options :

42558915436. 1
42558915437.2
42558915438. 3
42558915439. 4

Question Number : 147 Question Id : 4255893976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
@A bfaw e e s fee -
1, I e e
2, SFGE wihes g
3, TaRE wifen e
4, fars 7129W I TEalE s

Options :

42558915440. 1
42558915441.2
42558915442. 3
42558915443. 4

Question Number : 148 Question Id : 4255893977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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List - 1 List - 11
A, 3T @ I, ECEE
B. (MEie (are 1. gt SF
C. B o m @
D, 54 fa (o V.  GIEr e

Tuy ©ifeae Wy AWe 4 9@ e dve wgare e g o

1, A-IV, B-I, C-T11, D-I1
2, A-TI, B-1v, C-T1I, D-1
3, A-Im, B-1, C-1V, D-TI
4, A-1, B-IM, C-II, D-IV
Options :
42558915444. 1
42558915445.2
42558915446. 3
42558915447. 4

Question Number : 149 Question Id : 4255893978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A, STOR SHERT W0 22T I |
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D. TN ¢ FIF AT THA A |

E, 334 gF AqEe T T

fies eme feagefam g Aoe Tl =

1 B A G B D

2.C,D, A EB

3, ECB,AD

4 D, B, E A,C
Options :
42558915448. 1
42558915449.2
42558915450. 3
42558915451. 4

Question Number : 150 Question Id : 4255893979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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15 (el feotge Wi @I Feel wg (i Bize o9 -

1. A, B & C Only

2, B,C & D Only

3, A, C&E Only

4,C,D & E Only
Options :
42558915452. 1
42558915453.2
42558915454. 3
42558915455. 4



